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Linear Equations

POINTS T0O REMEMBER

1. Linear Equation : An equation which involves only one variable with highest power, is called a
linear equation.

2. Solving the Equation
To solve an equation means to find the value of the variable which satisfies the equation.
3. Rules for solving a Linear Equation :
The equality of a linear equation is not changed when
(7) the same number is added or subtracted from both sides of the equation.
(77) both sides of the equation are multiplied or divided by the same non zero number.
4. Transposition :
When any term of the equation is taken from one side to the other. this process is called transposition.
§. Cross multiplication

lf§=§lllena><d=bxc

This process 1s called the cross multiplication.

6. Word problems can be solved by means of equation by representing the unknown quantity as x, y,
z etc. and then solve the equation so formed by the condition or conditions given in the problem :

EXERCISE 7 (A) g D=V &
2

Solve : 2
Q.1. 5x-16=19 - 2x = 6x-x=3 = 5x=3
3 1 3
Sol. 5x-16=19 - 2x x:__g ey
= Sx+2x=19+16
(By Transposition) Q. 3. 3%x=5x—2-;—
= Tx=35 . :
Sol. 3=x=5x-2—
x=%5'=5Ans. 4 . '
— EJuc':-SJn;:—%
| |
Q.2. _3x—-—2-x=l—2- Multiplying by 4, the LCM of 4 and 2
1 | Ex>:4=5xx4—-5—x4
Sol. 3.17—51':15 4 2
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Q. 4.

Sol.

Q.5.
Sol.

15x=20x~- 10
= 15x-20x=-10
(By transposition)

— 3xx3-5x3=-2—3x-x3+9><3

(Multiplying by 3)
= 9x-15=2x+27
= Ox-2x=27+15

(By transposition)
= Tx=42
42
X - Ans.

x-4)(x+4)=(x+4)(x-7)+33
(x=4)(x+4)=(x+4)(x-7) +33
= x?—4x +4x- 16

=x?-Tx+4x-28 +33
= x2-16=x*-3x+5
= x2-x2+3x=5+16

(By transposition)

= 3x=21

21
= 21 _ 7 Ans.
X 3 ns

L (x=2)(x+3)=(x*-4)
L (x=2)(x+3)=x24
= x2+3x-2x-6=x2-4

x2+x-6=x*-4
x24+x-xt=-4+6

—
—

(By transposition) |

= x=2 Ans.

g.7. LB, 02y

- SIR 2

Sol.

Q. 8.

Sol.

i 5L

Sol.

oo e )
5 2
Multiplying by 10, the LCM of 5 and 2

(y—4)

B
— 2 (y=4)+5 (¥+2) =100
=  2y—-8+5y+10=100 |
=

x10+£’]%2)-><10=10x10 :

2y+5y=100+8-10

(By transposition)

Ty =98 ‘1..
2 - 14 |

y=7=

(x—l)=%(x+1)—%-

1
2
Multiplying by 4, the L.C.M. of 4 and 2

(x—l)=-§—(x+1)—

4(x-l)=%(x+l)x4—-%x4

= 4x-4=3x+3 -2
—=4x-3x=3-2+4
(By transposition)
x =35 Ans.

2 5
LZ(x-3)=1-=(3x-4

3 (x-3)=1 6( x—4)

%—(x—B) - 1-%(31:-4)
Multiplying by 6, the LCM of 3 and 6

6x—§-(x-3)=1x6-6x%(3x-—4)

—
=
—

4 (x-3)=6-53x-4)
dx—-12=6-15x+ 20
dx+ 15x=6+20+12
(By transposition)
19x = 38
ro 38

= =2
T Ans.

Downloaded from htips:// www.studiestoday.com



Downloaded from https:// www.studiestoday.com

|76 |

(x+7) (3x-2) =2 ((x-2)+15x=36-(x-5)
Q. 10. 3 i 5 = 2x-4+15x=36-x+5
Sol x+7=1+_3x—2 = 2x+ll5x+x=36+5+4
ol 5 = 18x = 45
Multiplying by 15, the LCM of 3 and 5 450y | e
32 S Tl
LAl S NG | VL EE T, |
3 i 41 _Bx-4) _ (-7
=5@+7)=15+3(3x-2) Q13 %3-—5 773
= S5x+35=15+9%x-6 Sol 13 3x-4 0 x-7
= 5x-9x=15-6-35 "3 5 3
296 Multiplying by 15, the LCM of 3 and 3
> —Ax==26 > X=_ o 2 2 ._7 A
15ik =2~ 15 x 2X— =15
1361 1 * 3 5 3
x=—=0— Ans.
2 2 = 65-303x-4)=5x-7)
4 5] 2( 1]_11 = 65-9x+12=5x-35
= x+=|-=lx——|=1=
A 5( 8/ 3 4 9 = —9x—5x=-35-65-12
i 3\_2 __l_.)=1_l_ (By transposition)
gk 5[“3) 3(’" 4)” 9

= —-l4x=-112

i(8x+5)_2(4x‘"1)=10 '—_11 _g
T 5 B S 4 e O R S A
= = | Vi) it (2y-1)
10 6 9 QU == e P
gdultiplyingby 90, the LCM of 10, 6 and s (y-2) i 1 - 2y-1)
’ O S R 3
90:.:3";5-9“ 4"’6‘1 . 190x90 Multiplying 12, the LCM of 4 and 3
l |
=9 (8x +5) — 15 (4x-1) =100 12,_(y-2+1x12=12y__12x2y3—~l
—  72x+45-60x+15=100 i Q
= 72x—60x =100 - 45 =15 | = 3@-2)+4=12y-4(2y-1)
—  2x =40 - = | 3y—-6+4=12y-8y+4
_40_10_41 = 3y-12y+8y=4+06-4 pr
e sl -0 Al (By transposition
= = =6 3
(x-2)  5x_, (x=5) — B
g +2"6 6 s y=-6Ans.
(x—Z) 5x=6_x_5 ; 1Y _( _I*xJ=5x+_l_
Sol. 3 + 5 6 Q.15. (7x-1)-|«x : 5 |
Multiplying by 6, the LCM of 3,2 and 6 . 1
- Sol. (7::—-1)—-[.1'— ]=5x+—-

+06x—=
2
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— Tx-1-x+ 1-x =5x+%
- Multiplying by 2,
14x—2-2x+(1'2x x2=lﬂx+%x2

Q. 16.

Sol.

Q. 17.

Sol.

=5 I4x—2—2x+1—x=10x+1
= l4x-2x-x—10x=1+2-1
(By transposition)
= l4x-13x=3-1
x=2 Ans.

: (5.17—7)_(2.1’-—-5) " 5x

4 3 6

Sx—-7. 2x—=D _ X
4 3 6

Multiplying by 12, the LCM of 4, 3 and
6

12x5x“7—12x2x—5=12x%
= 3(5x-7)-4(2x-5)=10x
= 15x-21 -8x+20=10x
= 15x-8x-10x=21-20
(By transposition)

= 15x-18x=1 |
= =-3x=1

x=-%Ans.
5—4x=1g
3-2x 7
5-4x _13
3a2x+ 7

By cross multiplication,
7(5-4x)=13 (3 -2%)

= 35-28x=39-206x
— — 28x + 26x =39 - 35
(By transposition)
= -2x=4
4 R
=— = -2 Ans.
AT 1

18.

Sol.

19.

Sol.

Q. 20.

Sol.

Q.21. 2

Sol.

Taa. 0 Led 5

(x—-4) (x+2)
Ty b 2l

x—4 x+2

By cross multiplication,
T7(x+2)=5(x-4)

= Tx+14=5x-20

= Tx-5x=-20-14=>2x=-34

By cross multiplication,
(x+1)(x—3)=(x-2) (x-2)
—x?-3x+x-3=x*-2x-2x+4 |
—x2_3x+x—x¢+2x+2x=4+3
(By transposition)
= Sx-3x=7T>= x=17
‘;“'3“;‘ Ans.
(2x-3) (Bx-1)
(2x-1) (Bx+1)
2x =3 . 3%=1
2x-1 3x+1
By cross multiplication,
(2x-3)Bx+1)=Gx-1) (2x- 1)
— 6x2 +2x—9x -3 =6x%-3x—2x + |
— 6x2 + 2x—9x—6x* +3x+2x=1+3
(By transposition)

X =

= Ix-9x=4

x =+

= -2x=4 = )

x=-—2 Ans.
_(3-x) _(3x+4)
(x=1) (x+1)

3—x=3x+4
x—1 x+ 1

) —=
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Q. 22.

Sol.

Q. 23.

Sol.

Ix -2 —-3+x 3x+4 ' Multiplying each by lZ,,thuﬂLCMctf"1
= x -1 T ox+1 2 and 3
S5y-11 3y-7
5 D s s Y 17 Y <12
x—-1 x+1
By cross multiplication, 4v-17
4 2 ot LAy ) 12
- Bx-5)(x+1)=0Cx+4)(x-1) ? 3 _ ~
=5 3x*+3x—5x—5 =306By-1)+6QBy-17
=3x2-3x+4x -4 =4 @By-7+12@-1)
:>3x2+3x—5x-}3x2+3x—4x = 15y-33+18y-42
=Sl A =16y-28+12y-12
= 6x-9x=1 =15y+18y-16y-12y
= =-3x=1 =-28~-12+33 +42
x="lAns. = 33y-28y=75-40
3 > 3.y=35
4 2 6
+ =y 35
(x-3) (x-2) x = y=?=7
43+ 22=é y =7 Ans.
x-3 x- - -
- -3
4x-8+2x-6 _6 Q. 24. St:vlw::(22):)-@3 )=1 X
= (x-3)(x-2) «x e
. 6x—14 6 ~ Find y, when —+—=2.
= = T 4
x2 -2x-3x+6 «x
6x—-14 _6 Sol. 2;"’-5—;-3= —
= x2 -5x+6 x i
By cross multiplication, Multiplying by 6, the LCM of 2 and 3
= 6x2 - 14x=6x%-30x+ 36 2 .
= 6x2 — 14x — 6x2 + 30x = 36 | = 3(2-x)-2(x-3)=6-6x
— 16x =36 — 6—3x—2x+6=6—6x
36 O — -3x-2x+6x=6~-6-06
— T T il -
16 4 x=~0
1 W ¢
x=21 Ans. Now ;"‘;"-2.
Solve : 2 .L..;.l:z::,l_-.z.q.l:lg.
5y-11 3y-7 4y-7 -6 y ¥
P L S oy
e Y S J’-13
Sy-11 3y- Yo 6
- = & =0
7 + 5 3I+J’ Hencex=6,and V 13Am.
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#
Q. 25. Ifx = (k+ 1), find the value of &, when, n —;-x e

1 1 1

—(5x=-3)——=(2+9k) =—.

higiotads glatRiTg x=15% 2= 75
Sol. x=k+1 ) ‘

Sol.

Q. 2,
~ Sol.

and $Gx-3)-3@+90 =1 G
Substitution the value of x in (i7)
-—-[S(A+l) 3]—~(2+9A)-i-
g 1
Zk+)-=-—"==—
LT e
Multiplying by 12, the LCM of 2, 3 and 4.

l2x—§-(k+l)—-12>:§--12x2+9k

=12:~<l
4

30 (k+1)-6x3-42+9%)=3
30k +30 — 18 — 8 =36k =3
30k—36k=3-30+18 +8
—6k=29-30=-1

<l y]

= —_6 = EAns.

EXERCISE 7 (B)

gy 4y

. Find a number, twice of which decreased

by 7 gives 65.
Let the number = x
Now according to the condition,
2x -7 =65
2x=65+7=72

Check :36 x2-7=72-7=065
which is given.
Hence number = 36

One-fifth of a number increased by 8 1s
equal to 23. Find the number.

Let number = x
According to the condition,

e 4823
5

0. 3.

Sol.

Sol.

Q.5.

Sol.

Q. 6.

Hence number = 75 Ans.

Find a number such that one-fifth of it 1s
less than by one-fourth of it by 3.

Let number = x
According to the condition,

20 0
5 x=3%20=060

Hence number = 60 Ans.

. Twice anumber increased by 10 is 14 less

than thrice the number. Find the number.
Let number = x

According to the condition,

2x+ 10=3x- 14

Ix-2x=10+14 = x=24

Hence number = 24 Ans.

Find three consecutive natural numbers
whose sum 1s 120.

Let first natural number = x
second natural number =x + 1
and third natural number = x + 2

According to the condition,
x+x+1+x+2=120

= 3x+3 =120

= 3x=120-3=117
_ 117 39
3

.. first natural number = 39
and other numbers =40, 41
Hence numbers are 39, 40, 41 Ans.

The difference of the squares of two
consecutive even natural numbers is 92.
Find the numbers.

Downloaded from htips:// www.studiestoday.com



Sol.

Sol.

Q. 8.

Sol.
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Let first even number = x

then second even number =x + 2

According to the condition,
(x+2)-x2=92

= xX2+4x+4-x2=92

= 4x+4=92

= 4x=92-4=288

x=ﬁ=22
4

Hence First even number = 22

and second even number = 22 + 2
=24 Ans.

. Find two consecutive positive odd

integers whose sum is 136.

Let first odd number = 2x + 1

Then second odd number = 2x + 3

. According to the condition,
2x+1+2x+3=156

= 4x +4 =156

= 4x=156-4=152

4

*. First odd number = 2x + |
=2x38+1=76+1=77
and second odd number=77+2=79

Hence odd numbers are = 77, 79 Ans.

Find two consecutive positive even
integers whose sum is 130.

Let first even positive integer = 2x
then second even number = 2x + 2
According to the condition,
2x+2x+2=130

= 4x+2=130

=  4x=130-2=128

—

4
-+ First even number = 2x =2 x 32 = 64
and second number = 2x+2 =64 +2 =66

Downloaded from hittps:// www.studiestoday.com

. The sum of two numbers i1s 58 and the

. Sum of two numbers = 58

Q. 10.

. Sum of two parts = 88

. The ages of A and B arc in theratio 9 : 4

Sol. Ratio in the present ages of A and B

Hence numbers are 64, 66 Ans.

difference is 12. Find the numbers.

Let first number = x
then second number = 58 — x

According to the condition,
x-(58-x)=12
= x-58+x=12
= 2x=12 + 58
=5 2x =170
X = 70. . 35
2

. First number = 35
and second number = 58 — 35 =23
Hence numbers are 35 and 23 Ans.

Divide 88 into two parts such that when
the larger is divided by the smaller, the }{
quotient is 3 and the remainder 1s 4.

Let larger part = x

and smaller part = 88 —x

Quotient = 3 and remainder = 4

We know that Dividend = Divisor
x Quotient + Remainder

~. Larger part = smaller part x 3 +4

- x=(88-x)x3+4

=5 x=264-3x+4

— x+3x=2068 = 4x= 268

x =——= 067
4

. Larger part = 67
and smaller part = 88 — 67 =21 Ans.

Seven years hence, the ratio of their age
will be 5 : 3. Find their present ages.

=9-4
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Q. 12.

Sol.

Let As age=9x
then B’s age = 4x
7 years hence,

A’s age will be =9x + 7
and B’s age willbe =4x +7
According to the condition,

Ox -ﬂ/__ 5

—

4x+7 3
= 3O@x+7)=5@x+7)
= 27x+21=20x+35
—
=

7x — 20x =35 =21

7x =14
x=li=2
7

-, A’s present age =9x =9 x 2
= |8 years
and B’s age = 4x =4 x 2 = 8 years Ans.

10 years ago, a man was six times as old
as his daughter. After 10 years, he will
be twice as old as his daughter. Find their
present ages.

10 years ago.
Let age of daughter = x years
then age of father = 6x years
Present age of daughter = (x + 10) years
and age of father = (6x + 10) years
and 10 years after,
age of daughter = (x + 10 + 10)
= (x + 20) years

.and age of father = (6x + 10 + 10)

= (6x + 20) years
According to the condition,
6x +20 =2 (x + 20)
= 6x + 20 =2x+40
— Ox—2x=40-20 = 4x=20

20
=15
e
. Present age of daughter = (x + 10) years

=5+ 10 =15 years

Q. 13.

Sol.

Q. 14.

Sol.

and age of father = 6x + 10
=6x35+10=30+ 10 =40 years

Hence their present ages are 40 years and
15 years Ans.

Meena is five times as old as her son
Ashish. In 8 years time, Meena will be
three times as old as Ashish. Find their
present ages.

Let present age of her son Ashish
= x years
then Meena’s age = 5x years
After 8 years, |
Age of Ashish will be = (x + 8) years
and age of Meena = (5x + 8) years
According to the condition,
S5x+8=3(x+8)
= S5x+8=3x+24
= Sx-3x=24-38

G
— 2x=l(::>l‘:*12—}=3

. Ashish’s present age = 8 years
and Meena’s age =5x =35 x 8

= 40) years Ans.
A number consists of two digits. The digit
at ten’s place is twice the digit at units
place. The number formed by reversing

the digits is 27 less than the original
number. Find the original number.

Let digit at unit’s place = x
then digit at ten’s place = 2x

- number =x + (10 x 2x)

=x+20x=21x
By reversing the digits.
the unit’s digit = 2x
and ten’s digit = x
. Number = 2x + 10 x x = 2x + 10x

= 12x
According to the condition,
12x=21x-— 27
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Q. 15.

Sol.

Q. 16.

Sol.
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Q_._ 17. The height of a triangle is 3 cm more thal

= 12x-2lx=-27 = -9x=-27

Y =—=

" Original number = 21x =21 x 3
=63 Ans.

The ten’s digit of a two-digit number
exceeds its unit’s digit by 5. The number
itself 1s equal to 8 times the sum of the
digits. Find the number.,

Let unit’s digit of the number = x
then ten’s digit=x+ 5
". Number =x + 10 (x + 5)
=x+10x+50=1lx+ 50
According to the condition,
lIx+50=8 (x+x+5)=8 (2x+5)
= llx+50=16x+ 40
= 1lx-16x=40- 50
— - S5x=-10
X= %5” = 2.
Hence number=11x+50=11 x 2 + 50
=22+ 50=72 Ans.

The denominator of a fraction is 4 more
than its numerator. If 1 is subtracted from
both the numerator and the denominator.

the fraction becomes % Find the criginal

fraction.
Let numerator of the fraction = x
then its denominator = x + 4

X
+4
According to the condition,

Fraction =
X

x-1 _ 1
xddnd - 2 =
= 2x-2=x+3
(By cross multiplication)
2x—-x=3+2 = x=8§

. —1 X —— 5 =-§- 4
.. Fraction wrd 5 .d gAm.

X=le 1
x+3 2

Sol.

Q. 18.

Sol.

its base. If the area of the triangle is 10
cm?, find the lengths of its base an
height.

Let base of a triangle () = x cm
then height (A1) = (x + 3) cm

and area (A) = 104 cm?
According to the condition,

g k= A
2

e %xx(x+3)= 104

=5 x(x+3)=208

= x2+3x-208=0

= x*+ 16x-13x-208 =0

{+3=16-13.and -208 =16 x (-13)}

=>x(x+16)-13(x+16)=0

— (x+16)(x-13)=0

Either x + 16 =0, then x = — 16 which is

not possible as it is in negative

or x—13=0 then x=13
Base = 13 cm

and height =13 + 3 = 16 cm Ans.

Last year the prices of two houses were
in the ratio 16 : 23. This year, the price
of the first house has risen by 25% and
that of the second by Rs. 5200 and the

ratio of their new prices is 9 : 11. Find
their last year’s prices.

Let the price of first house = 16x
then price of second house = 23x
This year, the price of first house

_ 16x(100 + 25%)
100,

= 16x x 125 =20%.
100

and price of second house = 23x + 5200
According to the condition,

20x  _ 9
23x +5200 11
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Q. 19.

Sol.

Q. 20.
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Sol. During a week, working hours = 40

By cross multiplication,

= 11 % 20x =9 (23x + 5200)
= 220x =207x + 46800

= 220x — 207x = 46800

= 13x=46800 = ¥ = 4618300
x = 3600
. Price of first house = 16x= 16 % 3600
= Rs. 57600
and price of second house = 23x
=23 x 3600
= Rs. 82800 Ans.

There are 100 multiple-choice questions
in an engineering enterance exami-
nation. A candidate was given 5 marks
for every correct answer and penalised
2 marks for every wrong answer. Pankaj
answered all the questions and scored
241 marks. How many questions did he
answer correctly? :

Let no. of questions answered correctly
| =x

then no. of questions which were wrongly
attempted = 100 - x

According to the condition,

xx5=(100-x) x 2=24]
= 5x-200+2x =241
= Tx =241+ 200 = 441]

X = ———=

*. No. of questions, he answered
correctly = 63 Ans.

A worker in a factory is paid Rs. 20 per
hour for normal work and Rs. 30 per hour
for overtime work. During a week, he
worked for 40 hours, out of which x hours
was overtime. If he receives Rs. 880 in
all, write an equation in x. Solve it and
hence find the number of hours of his
normal work during the week.

Q. 21.

Sol.

No. of hours as overtime = x
then no. of hours for normal time =40 —x

Payment is made = Rs. 20 for a normal
hour and Rs. 30 for overtime hour.

Total payment received by a worker
= Rs. 880
According to the condition,
(40 —x) x 20 +x x 30 = 880

= 20 (40 - x) + 30x = 880
== 800 = 20x + 30x = 880
= 10x = 880 - 800 = 80
X = 3—“* =8
10

*. Na. of hours for overtime = 8 hours
and normal hours = 40 — 8
= 32 hours. Ans.

The perimeter of a rectangular park 1s 80
m. If the length of the park be decreased
by 2 m and breadth increased by 2 m,
the area will be increased by 36 m?. Find
the original length and breadth of the
park.

Perimeter of a rectangular park = 80 m

80

. Length + breadth = 3 = 40m.

Let length of park =x m

then breadth = (40 — x) m

and area = /b = x (40 — x) m?

According to the condition,

(x-2)[40 —x +2] =x (40 —x) + 36

(x-2) (42 —x) = 40x = x> + 36

42x — x2 — 84 + 2x =40x — x2 + 36

= 42x — x2+ 2x 40x +x* =36 + 84

= 44x-40x=120 = 4x=120

x=m=3(]
4

*. Length of park =30 m
and breadth =40 -30 =10 m Ans.
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Q. 22. A man invested Rs. 5000, a part of it at
12% p.a and the rest at 14% p.a. If he

received a total interest of Rs. 636, how
much did he invest at 14% p.a. ?

Sol. Total sum invested = Rs. 5000
Let investment at 14% = Rs. x
then investment at 12% = Rs. (5000 —x)
Total interest received = Rs. 636
According to the condition,
xx 14 x1 +(5000-—x)x12x | 636
100 100
14 x g 12 (5000 — x)
100 100
14x + 12 (5000 — x) = 63600
14x + 60000 — 12x = 63600
14x — 12x = 63600 — 60000
2x = 3600

x=3—6—0g=1800

2
Hence sum invested on 14% p.a.

= Rs. 1800 Ans.

By selling a T.V. set for Rs. 27600, a
trader makes a profit of 15%. What is
the cost price of the set ?

Let CP of the T.V. set =Rs. x
Gain= 15%

S.P. = Rs. 27600
According to the condition,
_ CP(100+ gain)
& 100

xx (100+15) _ 115x
100 100

+. 115x = 27600 x 100 = 2760000

= 636

gy 4y u o

Q. 23.

Ans.

SP

27600 =

¥ 27‘;"1}200 — Rs.24000

». Cost price of the set =Rs. 24000 Ans.
Q. 24. The total cost of a desk and a chairis Rs.

477 1f the desk costs 12% more than the
chair, find the cost of each.

Sol. Total cost of desk and chair = Rs. 477

Q. 25.

Sol.

Let cost of chair =x

_ xx(100+12)
then cost of desk = 100
_ 12
100
According to the condition,
X+ N2, 477
100
= 100x + 112x = 47700
= 212x=47700
47700
x =——— =225
s 212

Cost of chair = Rs. 225
and cost of desk = Rs. 477 — 225
= Rs. 252 Ans.

Amit walks from his house to school at a
speed of 3 kmph and returns back at a
speed of 4 kmph. If he takes 42 minutes
for the whole journey, find the distance
between his house and the school.

Let the distance between school and
house = x km

Total time taken = 42 minutes

= 42 hours

According to the condition,

£+£=£_2_ ._.Time___DlStance
4x+3x=42
= Ty ink 60
Ix _42
= R i
_ 42 12,0 6
e T s

-. Distance between his house and school

=—§-km= 1.2 km Ans.
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Sol.

Q. 27.

Sol.

. A man covers a distance of 184 km in 3
hours 30 minutes, partly by bus and
partly by car. If their speeds be 48 kmph
and 60 kmph respectively, find the
distance covered by bus.

Total distance = 184 km.
Total time taken = 3 hour 30 minutes

= 3-!- = Zhours.
22

Let the distance covered by bus = x km
then the distance covered by car

= (184 — x) km
According to the condition,
x  184-x _ i
48 60 2
7 i s Distance
Speed

Multiplying by 240, the LCM of 48, 60
and 2

184 — x
60
— 5x+4 (184 —x) = 840
= Sx+ 736 -4x= 840

= 5x — 4x = 840 — 736
=5 x=104
. Distance covered by bus = 104 km Ans.

A steamer goes down stream and covers
the distance between two ports in 4 hours
white it covers the same distance
upstream in 5 hours. If the speed of the
stream be 3 kmph, find the speed of the

steamer 1n still water.
Let the speed of steamer in still water
= x kmph
Speed of stream = 3 kmph
. Speed of down stream = (x + 3) kmph
and speed of upstream = (x — 3) kmph
According to the condition,
(x+3)x4=(x-3)x35

240 x X+ 240 x =L x 240
48 2

Q. 28.

Sol.

Q. 29.

Sol.

4x+12=5x-15
4x - 5x=-15-12
-x=-27
x=27
Hence speed of steamer n still water
= 27 kmph Ans.

How much pure alcohol be added to a
400 ml, 15% solution to make it contain
32% alcohol ?

Solution = 400 ml.
and alcohol = 15%
. S 400 x 25
. Alcohol in the solution. 100
= 60 ml.

Let x ml of alcohol be added to make the
solution 32%

According to the condition,

(6““"):.(10(1:32
400 + x

60 + x ¥ 32
= 400+x 100

100 (60 +x) =32 (400 +Xx)
(By cross multiplication)
6000 + 100x = 12800 + 32x
100x =32x = 12800 - 6000

68x = 6800
X= 6300 = 100
68

* 100 ml of alcohol is to be added Ans.

[n a class room, there are x seats. If each
student in the class occupies one seat,
then 9 students remain standing and 1f 2
students occupy one seat, then 7 seats are
left un—occupied. Find the number of
seats in the class room and the number
of students in the class.

No. of seats = x

If one student occupies one seat then
number of students =x + 9

If two students occupy one seat then
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number of students =2 (x — 7) From (i), substitute the value of x in (/)
x+9=2x-17) y+3+y-7=0=2y-4=0
=>2x-14=x+9 Substituting the value of y n (i),
= x-x=14+9 x+4x-5=0 = 5x-5=0
= x=23
.. No. of seats = 23 : = 5x=5 = x=-5_=l
and no. of students =x +9 =23 +9 Now substituting the value of x in (i77),
=32 Ans. y=4x1=4
Q. 30. In a shooting competition, a marks man Hence x=1,y=4 Ans.
receives Rs. 2 ifhe hitsthe markandpays =~ Q.2. x+y-5=0,y-2x=2x. |
Re. 1 if he pﬁsses it. He tried 60 ghots Sol. x+y-5=0 ()
and was paid Rs. 18. How many times 3 i :
did he hit the mark ? | s ()
From (ii)
Sol. No. of shots = 60 and amount received y=2x+2r=4x (i)
=Rs. 18 - x=1-2%x(-2)=1+4=35
Let no. of shots hit by him = x Hencex=35, y=-2 Ans.
then no. of shots missed = 60 —x Q.3 x+2y-1=0,3x-y-17=0
According to the condition, Sol. x+2y-1=0 ..(7)
xx2—-(60-x)x1=18 3x—-y—-17=0 ()
2x-60+x=18 From(i)) x=1-2y ... (i7)
= 3x=18 +60 Substituting the value of x in (i7),
= 3x=78 = x=-23-3—=26 3 3(13“—2:;:;}:1;;2
.. No. of shots he hit =26 Ans. = ~T7y-14=0 = Ty+14=0
-14
EXERCISE 7 () L e ion 2N, TR
Q. 1. Solve the following simultaneous Substituting the value of y in (i)
equations : x=1-2x-2
x+y-7=0, y¥+3=x. = x=1+4
Sol, ¥ Yz S0 (r) & ;I:niex=5,y=—2 Ans.
y+3=x =\i1)
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Substituting the value of y in (7)

2x+3(5x8_20J=23

Q.4. 5x+4y-4=0,x-20=12y

Sol. Sx+4y-4=0 (1) 15x - 60
x-20=12y ...(ii) L et T
From (i), x=12y+ 20 .. (fii) 16 x+15x—-60=184
Substituting the value of x in (7) (Multiplying by 8)
5(12y+20)+4y-4=0 31 x =184 + 60 = 244
= 60y+100+4y-4=0 244 727
= 64y+96=0=64y=~96 T IR T
~96 3 Substituting the value of x in (i/7)
< i * [sx?ﬁ-zo} 1220 5
Substituting the value of y in (/i) oo 31 S |
S 8 3
‘ "‘"'2"["{)*20 _1220-620 _ 600 _ 75
-—18 +20=2 ~ 31x8 31x8 31
13
-3 = D
Hence x-2,.v='2— Ans. 31
Q-s. x+2y+9'9;3x'*‘4y+17=0 Hence x=7%} and }"=2% Ans.
Sol. x+2y+9=0 ()
= - 129 =23
From()  x=-2y-9  .@i) o0 ¥TIV" |

S5x-129=23y .. (if)

Substituting the value of x in (#7)
; . From (if) 23 y=5x- 129

I(=2y-9)+4y+17=0

= =06y-27+4y+17=0 o y=5x;3129 (i)
= =2y-10=0 = -2y=10
” 10 A Substituting the value of y in (7)
U = — - _17¢
YT 3x+7(5x2312))=15
Substituting the value of y in (#/7)
x==2(=5-9=+10-9=1 - Iy 4+ 35x-903 _15
Hence x=1,y=~-5 Ans. 23
Q.6. 2x+3y=23,5x-20=8y = 6(69x+35x~-903 =345
Sol. 2x+3y=23 () . (Multiplying by 23)
s:-zn-ay ") = 104 x=345+903
1248
5x-20 st =12
s o 4 3 .. (#11) = . 104
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Sol.

Q.9.

Sol.
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o8

——__————_

Substituting the value of x in (777),

_5x12-129 _ 60-129 _ —69
- 23 23 23

4

Hencex=12and y=-3 Ans.
3le—=3) =y+2,2(xt+y)=4-3y
3—-(x—-5)=yt2
3—x+5=y+2
Rax =) b2 =t =8 -2
= xtyFh ..(7)
2(x+y)=4-3y
= 2x+2y=4-3y
=2 x+2y+3y=4
= 2x+S5y=4
, 2x+5y=4 ... (1)
From (1) .. (7i7)
Substituting the value of x in (77),
2(6-y)+5y=4
12-2y+5y=4
3y=4-12=-38
-8

y=3

Substituting the value of y in (i77),

8 8
=6-|-—|=6+—
7 ( 3)

-

x=6-y

3
__18+8=26
g 3
Jc:—-z—(l =:—8 Ans
Hence ¥ = 3 Y E ]
3y i
Yp o mme= 3 X =2 Y F T
4
3
i
2x 1
= 8x-3y=12
(Multiplying by 4)
8§x-3y=12 ..(7)
5x=2y+7 .. (i)

Sol.

From (ii),
2y+7
5
Substituting the value of x in (7),

- (2y5+7)_3y= 12

16y + 56

e
= 16y+56-15y=60

(Multiplying by 5)
=16 y-15y=60-56
y=4

Substituting the value of y in (#ii),
_2x4+7 R 8+7 N 15

X =

.(iii)

= 3y =12

* 5 iy
Hencex=3,y=4 Ans.
2 8 =2 . 7
X e, s
3¥ 34 s 5
2 8 _
e oo [
Fragd =5 (7)
2x 7 »
el g e i
T TUES (i7)
From (7)
AT (i)
:-:-3 3y—- 3

Substituting the value of y in (i),

2 (8+2 7
_( y]_y=

5( 3 5
16+4y o
= 15 1”5

= 16+4y-15y=21
(Multiplying by 15, the L.C.M. of 15, 5)
= -11y=21-16=35

-5

T}

Substituting the value of y in (ii7),

Downloaded from https:// www.studiestoday.com




Downloaded from https:// www.studiestoday.com

(]

Sol.

_88-10 78
“rllse3  11x3
26

X=—

11

H x—'lﬁ "_—Si Ans
T & 11 :

Q. 11.
Sol.

— ISX%x—ISX%y+15=0

(Multiplying by 15, the L.C.M. of 5, 3)
— 9x-10y+15=0 ()

15x%x+15:<-l§y—4x15=0

(Multiplying by 15, the L.C.M. of 5, 3)
6x+5y-60=0 SsilIt)
Multiply (7) by 2 and (ii) by 3,
18x-20y+30=0
18x+15y-180=0
- = -
Subtracting, we get,
~35y+210=0 = -35y=-210
-210
e T
Substituting the value of y in (7),
9x—10(6)+15=0
= Ox—-60+15=0
= 9x-45=0 = 9x=45

=—=95
g

Hencex=35.y=6 Ans.

Q. 12.

Qi13.

Sol.

N =% 9=
W wi<
1] I
n n

b | =

+
Multiplying by 21, the L.C.M. of 7, 3

ﬂx%+ﬂx%:2w5

3x+7y=105 ..(7)
. X Y _
Again T 6
Multiplying by 18, the L.C.M. of 2 and
5

ISx-;E—le%:leS

9x-2y=108
Multiplying (i) by 3 and (7/) by |
9x+21y=315
9x—-2y=108
= o+ L

.(I7)

Subtracting, we get,
23 y=207

- =9
T3

Substituting the value of y m (7),

3x+7%x9=105 = 3x+63=105
3x=105-63=42

42

b

Hencex=14,y=9 Ans.

= = 14

X Agqaed® Y. g0

3 4 g3

* i)

3 4

Multiplying by 12, the L.C.M. of 3 and
4

el 202 el = 12x 11
3 4
4x+3y=132 sall)

Downloaded from htips:// www.studiestoday.com



Downloaded from https:// www . studiestoday.com

90
#ﬂ
Again _6'_§+ = x__lﬁs_lz
Multiplying by 6, the L.C.M. of 6 and 3 -14
" Substituting the value of x in (7),
Bl L6 T =D RIS
6 3 _12+36=48=
5x-2y+42=0 6 6
Sx-2y=-42 ...(i) Hence x=12,y=8 Ans.
Multiply (/) by 5 and (ii) by 4, 9 11
Q.15. x-y=— =4
20x+15y= 660 S 10’ 2(x+Y)
20x~ 8y=-168 9
] il " Sol. -y =15 (1)
Subtracting, we get, 11 =1 = 2@+y)=11
23 y = 828 2(x+Y)
828 11
=—-=36 - — ]
Y= XY ..(ih)
Substituting the value of y in (7), Adding (7) and (i7),
4x+3x36=132 9 11 _9+55 64
=5 4x+108_=132 2x-10+ 2~ 10 10
= 4x=132-108=24 _ 64 16
g > S 10%27! 5
= fp s 4.5 Subtracting (f_) from (i), |
Hence x =6,y =36 Ans. o, 9 55-9 46
i g Y3107 10 10
Q. 14 = Y epmeta) _ 4623
X x +36 | Y=Tox2 10
Sol. E""G:y =Ly 6 (I) 16 23
Hence x=— and Y=-- Ans
3x 3x : 5 10
—=]l+y = yYy=—- ...(H)
From (7) and (ii) | 2l "
x+36=§_£_1 2
6 4  Sol Zey=03
=4 x‘;% - 3"4'4 = x+2y=16 (D
By cross mu]tip]icatioil, 5 L 10
4 (c+36)=6 (3 x—4) M -
4x+144=18x-24
Vo ol
4x-18x=-24-144 = x+;=ﬁ=0-7 (if)
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, Subtracting (ii) from (7) -
Y 3
2y-==16-0-7 =y=09
y 7 = Zy

0-9 x 2 =O-6=—3-
3 5

Substituting the value of y in (i)

Jr:-+-2><§--E =5 x+-(i"‘~§
5 10 : (s

y:

2 3
Hence x=-5— and y=§ Ans.

). 17. Solve the following simultaneous
equations :
y-—2

=17, x+2y="—>—-2

ol

4x+

e

Sol. 4x+ =17

=32x+x-y=136
— 33 x-y= 136 ()

y=-2
x+2yf—3—-—2

— 3x+6y=y-2-6
=3x+6y-y=-8
= 3x+S5y=-8 (1)
From (7),

y = 33x - 136 ... (1)
Substituting the value of y in (i),

3x+53B3x-136)=-8
= 3x+165x~-680=-8
= 168 x =~ 8 + 680 = 672

672 _

168
Substituting the value of x in (i),
y=33x-136=33 x4-136
=132-136=-4
s x=4,y=-4Ans.

: : Dcwniogdes:ﬁ www.studiestoday.com
+ ¥ .

T+x 2x-Yy

. . =3 -3 —5
Q.18 5 2 y
4x—3+5y~7=18_5x
6 2
T7+x 2x-)y
! - =3y-5

Sol 5 1 y

4 (7+x)-5@2x-y)=203By-5)
(Multiplying by 20, the L.C.M. of 5 and 4)
284+4x-10x+5y=60y-100
—=4x-10x+5y-60y=-100-28
= —6x-55y=-128

= 6x+55y=128 A7)
4x-3 S5y-7
=183
and e - - X
6x4x_3+6x5y2_7=6(18-5x)

(Multiplying by 6, the L.C.M. of 6 and 2)
@4x-3)+3(5y-7=108-30x
4x-3+15y-21=108-30x
4x+15y+30x=108 +21 +3
34 x+15y=132 .(11)
Multiplying (i) by 3 and (i7) by 11
18x+165y=384
374 x + 165 y= 1452

Subtracting, we get,

—~ 356 x=-1068
e -1068 o
-356

Substituting the value of x in (7),
6x3+55y=128

= 18+55y=128

= 55y=128-18=110

Hence x=3, y=2 Ans.

Q.19. 6x+5y=Tx+3y+1=2(x+6y-1)
Sol. 6x+5y=7x+3y+1 "
= 6x+5y-7Tx-3y=1%1
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= -x+2y=1

=5 x-2y=-1 )
T7x+3y+1=2(x+6y-1)

= Tx+3y+1=2x+12y-2
7x+3y-2x-12y=-2-1

. l
o 6(x+y)=12 = x+y==
x=2y-1 ...(iii)
Substituting the value of x in (i7), x+ty=2
SO v—1)=9 y=—3 Adding (ii7) and (iv), we get,
> 10y-5-9y=-3 2x=6_ = x=3
— 10y-9y=-3+5 Subtracting (7i7) from (iv)
. y=2 2y==2= y==1]
Substituting the value of y in (777), -Hence x=3,y=-1 Ans.
g2 al=lgd—1=J Q. 22. 4x+£=]5’3x—.4-=7
Hence x=3,y=2 Ans. y 4
Q.20. 103x+51y=617,97x+49 y=583 <oy 4x+£=15
Sol. 103x+51y=0617 () y
97 x +49 y= 583 (i) 3x*i _ 9
Multiplying (i) by 49 and (i7) by 51, y
5047 x + 2499 y = 30233 Multiplying (7) by 2 and (i7) by 3,
4947 x + 2499 y = 29733 |
. 8 8x+£=30
- - - Yy
Subtracting, 100 x =500 e 12 9
500 y
=100 51 .
: ' =§] > x=—=23
Substituting the value of x in (7), Adding, 17 x 17
103 x5+ 351 y=0617 Substituting the value of x in (7),
515+51 y=0617 4x3+£=15
= 51y=617-515 y
102 6 _
o et ) = 12+—=15
= S5ly=102 = VY 51 : y :
Hencex=5,y=2 Ans. = -—-=15—l2=-1-
y
Q.21. 23x-29y=98,29x-23 y=110 - i
Sol. 23 x-29y =98 (i) 2 Iypyy (B S sty
29 x —23 y= 110 (i) S _g_ _2 :

Adding (7) and (i7), we get

——————————————

52x-52y=208

52(x-y)=208 = x-y=3

x-y=4
Subtracting (i7) from (7)

Hencex=3,y=2 Ans.
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v AL A
¥l 3y W x .y
3.7 44 |
% 8y 7.6 ...(7)
x Y
Multiplying (i) by 3 and (i7) by 2.
By 6g .3
x 3y 6
6.2_1
14 X ML 2
6. 4_,
x Yy
Subtracting, P 3
Yoo 2
== y=-4
Substituting the value of y in (7),
2 .
x 3(-4) 6
2.2 _1
A e
2 1.1
= x 6 6
g S
= % 6 6 3
= x=2x3=6
Hencex=6,y=-4 Ans
3 2 _5 2__1:1
2 3y ‘' x Yy
3 2
=35 ;
2x 3y 1)
25229 ..(ii)
oy

3
Multiplying (i) by 5 and (i7) by bE

15+10=25
2% 3y
15, B=%3
2x 1 29 LQ
- - =
Subtracting, we get,
10+ g3 _§=ﬂ
3y 2y 2ob
2[l+2‘?=47 S 47=47
6y 6y 2 6y 2
= 6yx47=47 x2
A7 %2 1
= y_6x47“§

Substituting the value of y in (7),

3+ 3 =5:>—-—--|—2=5

2x |

3 _5.7-3 = 6x=3
2x

'y |
X ===
6 2
ence 2,}’ 3 ns.
| |
Q.25. 5x-9=—,x+—=3
Yy y
Sol. 5x-9 2l 2.47)
¥
1 »
x+—=3 .. (#7)
y

|
From (7) substituting the value of ;

in (i7), we get
x+5x-9=3 = 6x=3+9
12

e S =12 = x=—6-=2

Substituting the value of x in (i),
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5x2_9=l:l=10_9=1 —_——=0
y y x y
= ) dl=d ab? +a b =(a2+b2)
Hencex=2,y=1 Ans. x y
Q.26. x+y=2xy, x-y=6xy o - =
Sol. x+y=2xy, x=y=06xy Subtracting, we get,
Dividing by xy, we get, f3vl G s
x+y=2xy x_y=6xy y y
xy Xy Xy Xy
Hear 1 y- -i(b2+a2)=—(a2+bz)
Lil=2 ..() ’
o | Lo a2+b2_ 1
— ——=- S =
i";=6 ...(#) : 4
Adding we get, 9 1 Y
£=g = 8y=2 Substituting the value of y in (i),
y E..é:() — £—1=0
o y:-z-'-zl X oD X
8 4 a_, ik
Substituting the value of y in (i), = L = x=a
1.1 cmerdangipdi Hencex=a,y=5b Ans.
| X
o QU =gty
- X+y x-=Y
- L=2-4=-2 3 Lo S
— 2";_ x+y x-y 3
-1 Sol, ° 2 = 3,
xE= x+y Xx-y
1 1 2 . % i
Hellcexj—-T,y=E Ans. x+y x-y 3
b ) b Put x+y=a and x—y=b, then
] a S/ | 9 2
9y ———=10 + = (a* +b%)
Q‘ 27' X y ? " y _3_.+Z = 3 “_(f)
a b
a b
vl () 2% Bk
Aol 5 2 b (i)
2 2 U g
ab®  a b = (a2 +b?) i) Adding (/) and (i), we get,
kel 5520
Multlplylng (I) by b% and (H') by 1, -E+g=—3—
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Sol.
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Lo 1
a b
Subtracting (i) from (7),
(R | 2 .
= 3 = - 3 ...(n-")
Adding (iii) and (iv),

22 2%

m—

4
=3 (Dividing by 5) .(ii1)

a 3 o

— 2a=06 ==

Subtracting (7v) from (777),
2. .6

b 3
= b=1
Now substituting the value of @ and b,
..(v)
x-y=1 ...(vi)
Adding (v) and (vi),
2x=4 =5
Subtracting, 2 y=2 =
Hencex=2,y=1 Ans.

22 15 55 40
+ =3 +
Xty X~y

= 6b=06

x+y=3

2
1

X
y

=13

X+y x-=Yy

22 15
+ =3
xX+y x-=Yy

55 40
+

X+ y

=13
xX=y
Putx+y=aandx-y=b, then

225 19
S S 5 1
a + b | "'(J)

55 40
+ =
x b
Multiplying (7) by 5 and (i7) by 2,
110 75
+
a

110+80___26 =
a b

—— e
.

13 ..(il)

=25

Q. 30.

Sol.

Subtracting, we get,
5 5
——=-1 — =1
b 1 Up
b=35
Substituting the value of 4 in (7),
L2 5 22585
a 3 a
22 2
- —=3-3=— = 2a=22
a |
a= e =11
2
Nowing substituting the value of @ and b,
x+y=11 ..(7i7)
xX—-y=35 L(iv)
Adding we get,
16
EElG” = £=rs 8

and subtracting, we get,

6

- —=3
) = 4 5

Il

2y

Hencex=8,y=3 Ans.

If2x+y=32and 3x+4y= 068, find
the value of (x/y).

2x+y=32 ...(7)
3x+4y=068 ..(i1)
Multiplying (i) by 4 and (i7) by 1,
8x+4y=128
3x+4y=08

—— —_—

Subtracting,

x=6—-=12
5

Substituting the value of x in (7).
2x12+y=32
= 24 +y=32
y=32-24=38

5x=060 =
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55 ]

Q.31

Sol.

x_12 _3
¥ 8 2Ans.

If7x=10y+4and 12x+18 y=1, find
the values of (4 x + 6 ) and (8 y + x).

7x=10y+4
= 7x-10y=4 ..(7)
12x+18y=1 (i)
Multiplying (7) by 9 and (77) by 3,
63 x-90y=36
60x+90y=35
Adding, 123 x= 4l

Substituting the value of x in (1),
1
ITx—=10y=4
W 3 y

7
— 3 y

—my=4-l=£

Q. 32.

Sol.

The sides of an equilateral triangle are
(x+3y)em, 3x+2y-2)cm and

(4x+%y+1j em. Find the length of

each side.
- Triangle is an equilateral.
. Its sides are equal.

1
.'.x+3y=3x+2y——2=4x+5y+l

Takingx+3y=3x+2y-2

= 3x+2y-x-3y=2

=  2x-y=2 ..(7)
Again taking,

]
3x+2y—2=4x+5y+1

S 3x+2y—-4x——;—y=1+2

3
= —x+-i—y=3
= -2x+3y=6
= -2x+3y=6 ..(#1)
Adding (7) and (77),
| 2y=38
8

= y=5=4

Substituting the value of y in (i),
2x-4=2

= 2x=2+4

— 2x=0

Sox=3

Now sides of the equilateral triangle are

B+3x4),(3x3+2x4-2),

@x3+%x4+”
or 15,15, 15 cm. Ans.”
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EXERCISE 7 (D)

). 1. Draw the graph of the line whose equation is :

(i) x=4 (i)x+5=0 (iii))y=6
@v) x+7=0 V)y=x vi)x+y=0
Sol. (Hx=4

It is a line parallel to y-axis where x = 4.

Y
'y
1(]..
'y 971 A
B.-
'? 4
< & y=° >
5"
4.. I
]
2y - Y
' ".*
| " 21
>
1-|-
- —— i} ——————— » X
< -9—3—?-6—5-4-3-2-10123456?89
-1+
_2--
i3 4
,..,4..
-5+
_6-.-
-+ — y:..? »
_,_Bu
A J
v ol
-10 +
'J
Y
i) x+5=0
x=-3
It is a line parallel to y-axis where x = — 5.
~Itis a line parallel to x-axis where y = 6.
v) y+7=0
e .

"l -5l)
It isa lme parallel to x-axis where y=-7.

i | Downloaded from htips:// www.studiestoday.com



Downloaded from hitps:// www_studiestoday.com

(v) y=x

By giving different value to x, we find corresponding values of y as given :

™~

x | 2| 4| -4
y24—4'

|

Now we will plot the points as shown in graph below : (2, 2), (4, 4) and (- 4, — 4) on graph and
by joining these points, we get the line y = x. :

Y
2

101

i —

(vi) x+y=0 = x=-Yy -
By giving different values to y, we get corresponding values of x as given

x| =2 |l B D
¥y 2 4 -3

Now we wiﬁ plot the points (- 2, 2), (— 4, 4) and (3, - 3) and by joining them, we get the line
x+y=0ushow1bg%%g h above. | i
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Q. 2. Draw the grapﬂf :

() 3x+2y=0 (@()S5x+2y=9 (iiil) x-5y+4=0 (iv)3x-5y+1=0
| gy
Sol. ()3x+2y=0 = 3x=-2y = X =—=
Now giving different value to y, we get corresponding values of x. If y= 0, thenx = 0.
2
= =—-—x3=-2
If p=3 then X 3
dif ‘=6 then x=—-2—><6=—-4
an y=0, B
x| 0| -2| -4
Hence " p

{,}
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9-2y
Gi) 3x+2y=9 =  Sx=9-12y = X = 3
Now giving different values to y, we get corresponding values of x.
_9—2x2_9-4_§__1
Ify=2, then X = 3 o
_9—2x7_9—14_:§__1
If y=17, then X = 5 § e e
_9—2x(—3)_9+6=g=3
If y=-3, then x= 5 iper 5

i i 2 s W
y | 2 T =3

Now plot the points (1, 2), (-1, 7) and (3, - 3) or the graph and by joining them, we get a line
as shown in the graph.

(i) x-5y+4=0
x=35y—4

-
o
— <

N WA OO N 0 O

10 +
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—

By giving different values to y, we get corresponding values of x.

If y=1,then x=5x1-4=5-4=1
If y=0,then x=5x0-4=0-4=-4
If y=2,then x=35%x(2)-4=10-4=6
x | 1| -4]6
Hence EE 0 9
Now plot the points (1, 1), (=4, 0) and (6, 2) and by joining them, we get a line as shown in the
graph.
(v) 3x-5y+1=0

=3 3x=5y-1

x=5y—l

3

Now giving different values to y, we get corresponding values of x.
_S5x(=D-1_ -5-1_ -6 _

= -2
If y 1, then X 3 3 3
I v=2 th Ji:_5:-<2—l=_10-—l=2=3
y=2,then 3 3 3
5(-4)-1 -20-1 =21
== - = - = — =-—-7
If y=-4,then X 3 3 3
x | =2 | 3| -7
Hence . N

Now plot the points (- 2, — 1), (3, 2) and (= 7, —4) on the graph and by joining them, we get a
line as shown in the graph. |
- Q. 3. Draw the graph of the equation 4 x +3 y + 6 = 0. From the graph, find :
(i) »,,the value of y, when x = 6.
(if) y,, the value of y, whenx =~6..
Sol. 4x+3y+6=0

FIE D

4x=-3y-06
s -(3y+6)
T4
" Now giving some different values to y, we get corresponding values of x.
L(Bx246) <12
i — — —— — —3
If y=2,then X 1 1
| : —[Bx(-2)+6] -[-6+06]

If y=-2,then X = [ 1 ] = n =\
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3x(-6)+6]  (-1846) -(-12) _12 _,
If y=-0,then " Roh = = - = =

4 4 4 "

x | -3 0 3

Hence yrira-4=2 | =6

Now plot these points (- 3, 2), (0,-2) and (3, - 6) on the graph and by joining them, we get a
line as shown.
Y

10

f----__----

A ——

From the graph,
(i) If x =6, then value of yi.e. y, will be = - 10.
(i) If x= -6, then value of y i.e. y; willbe =6 .
Q. 4. Draw the graph of the equation 2 x — 3 y = 5. From the graph, find :
(/) x,, the value of x, wheny=7.
(if) x,, the value of x, when y == 3.
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Sol. 2x-3y=35 = irn2x=3 p+5

2 . L ]
Now giving some different values to y, we get the corresponding values of x.

_3x1+5 _3+5 _38

S o o o i
If y=1,then x 3 5 5
_3"("1)“'5_"3*’5:3:1
If y=-1,then X = > =575 2
_3><(—3)+5__-9+5_—-4=_2
If y=-3,then x = ; Tty s
x | 4 1 -2
Hence =1 -3
Now plot the points (4, 1), (1, 1) and (= 2, - 3) on the graph and by joining them, we get the
line as shown,
Y
_10
9
8
_________ B
7mmmmmm e ————— .
. a
St E
4t !
|
3-- :
I
21 i
11 (4,1) i
5! PECSE NG R —.
-6 5 -4 -3 -2 -1 |0 1 3 4 5 6 7 8 9 10 11 12 13 14 15
|
i 11—
| (=2,-3)
: -3
: -4
A: ........... i
-6
7
-8
-9
-10
il
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From the graph (i) If y = 7, then the value of x will be x; = 13.
(it) If y = = 3, then the value of x will be x, = - 3:
Q. 5. Draw the'graph of the equation 3 x -y = 4. Find graphically :

(i) the value of y, whenx=-1. (i) the value of x, when y j‘ 5.
S
Sol. 3x-y=4 = 3x=y+4 — e
Now giving some different values to y, we get corresponding values of x.
2+y 6 o 3 5+4 2 9 _ 3
If y=2,then * = =§=2 If  y=5then *F=—==g
T34 =3 1
If y=-1,then X = 3 3
o | B0 ) 1
Hence ol [ 0 T
Now plot the points (2, 2), (3, 5) and (1, - 1) on the graph and by joining them, we get the ling
) 4
0]
9..
8+
4
6 o+
5. ————————
1
1
I
I
I
I
1
i
|
|
I
, E — ,X
X« :

5 6 7 8 9
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~ From the graph, When x = — 1, then the value of y will be = -7
and when y = 5, then the value of x will be = 3.

Q. 6. Draw the graph of the line given by the equation 5 x + 6 y = 30. Use this graph to find the area
of the triangle formed by the line and the co-ordinate axes.

— — —

30-6y
Sol. 5x+6y=30 = 5x=30-06y = = -
Giving some different values to y, we get corresponding values of x.
h x—30-6x0—30“0—30—6
If y=0,then = 5 5 3
30-6x5 30-30
If y=23,then X = 3 o =0
e x_30—6x10_30—60_—30__6
If y=10,then 3 5 5
| x| 6|0/ -=6
Hence y]o]s] 10
Now plot the points (6, 0), (0, 5) and (- 6, 10) on the graph and by joining them, we get the line
as shown.
Y
&
101
¢ T S E————— —_—
: RS ey Ly .2 -1 |09 23,4 5 6N\7 8 9

-1+
2+
or —3"
-4 +
-51
_6..
_7--
_B...
-9+
-10 %
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This line intersects x-axis at 6 at A (6, 0) and y-axis at 5 i.e. at B (0, 5).
AAOB is formed by the line and the axes.
. Area of right AAOB

Q. 7. Draw the graph from the table given below :

x|l0l 4 | p| —4
Y1131 =371"061| ¢

(i) From the graph, find the values of p and g.
(if) State the linear relation between x and y.

Sol. We plot the points (0, 3) and (4, - 3) and by joining them, we get the required line. From the
graph, we see that

(i) When y=6, : '
then value of x i.e. p=—2

and when x = -4, ' |
then value of yi.e. ¢ =9
(ii) Let the relatiion between x and y be

| y=ax+b

From the table,

Substituting x = 0, and y =3, we get
3=gx0+b
h=3

Again substituting

x=4, y=-3
-3=4a+3
4a=-06

-6
S
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-—_—--—_—_--————‘---

X' s e s fperfp—) 0: e SR E s +» X
-9-3-7-«;-5-4—3-2-1_1“1 3 4 5 6 7 8 9
-2t
-3+
-4 +
54
5+
-7t
-8 +
g4
-—10i
il
-6
.". Relation will be y=-—4—x+3
= 4y=—-6x+12
= 6x+4y=12
=3 3x+2y=6 Ans.

Q. 8. The graph of a linear equation in x and y passes through the points A (4, 0) and B (0, 3). Draw

3
the graph. Find the value of £, if the graph passes through (k ’EJ'

Sol. Plot the points (4, 0) and (0, 3) on the graph and join them to form a line as shown.

: If then x=2..

A
k=2 . Ans.
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Y
A

- -

|
|
X'e — :1—0——0'—|—|—+—-—lo: e
---—9—B—'?—‘B—5—-41'—1".'5-2—'11'l 1 2 3
-21

_3.4.

> X

EXERCISE 7 (E)

Solve graphically, the simultaneous equations given below :
Q.1. x+y=3,2x+5y=12
Sol. x+y=3

x=3-y
If y=0,then x=3-0=3
If y=1,then x=3-1=2
andif y=2,then x=3-2=1
x.l 3.2 y|EA
Hence plo]1]2

Taking scale 2 cm = 1 unit on both the axes, we plot the points (3, 0), (2, 1) and (1, 2) on the
graph. Join them to form a line as shown. :

Again 2x+5y=12
2x=12-35y
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|

X'e A ———
—9-3—7-6—5—4-3-2-11.

-12-5x0 12-0 12

=" — — — =6
L 12-5x2 _12-10 2 _,
If y=2,then = 5 7 5
| _12-5x4 _12-20 -8 _
If y=4,then X = 5 -7, 7
x%1t6 |51 | -4
Hence i 0= £2 4

We plot the points (6, 0), (1, 2) and (- 4, 4) and join them to form an other line. We see that
these two lines intersect each other at (1, 2).
ii | - Solutionisx=1,y=2 Ans.
|' Q.2 x+y=4,3x~- 2y=17
: Sol. x+y=4 =5 x=4-y
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— - —

b }
-9

If y=0,thenx=4-0=4 If y=2thenx=4-2=2 If y=4,then x=4-4=0

Hence

Now we plot the points (4, 0), (2, 2) and (0, 4) on the graph and join them to form a line.

t

Again,

IT sy
If y=—4,
If y=-5,
Hence

8 -7 -6 -5 —4 -3 -2

- t ¢ y

_B.n-
Y
YJ‘
v g 1R 140
y |02 |4
3x-2y=17
7+2y
3x=T7+2y X = 3
Jl:_7+2>¢1_7+2:_(:3_:3
L e 3 3 13
T+2x(-2) 7- 3
—. =—=—::I
then X 3 3 3
CT+2(=8) 7-10 =3
then x= 3 =183 3
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e -

Now we plot the points (3, 1), (1,— 1) and (- 1, — 5) on the graph and join them to form a line.
We see that these two lines intersect each other at (3, 1). Hence, solutionisx=3,y=1. Ans.

Q.3. 2x-3y=7,x+y=1
Sol. 2x-3y=7

3y+7
2x=3y+7 8=
3x1+7 347 10
If y=1, then x= 7= [ V8 ='5‘=5
Ik (DT | 347 4
if y=-=1, then ¥=—% -
| 3Ix(=-3)+7 -9+7 -2
If y=-3, then x= > e g
2. ]2 o =1
Hience y|1]-1]-3
M
101
94
8+
7..
6-.
54
44
54
2t

-101

’
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Now we plot the points (5, 1),(2, - 1) and (- 1, — 3) on the graph and join them to get the line.

Agam x+y=1

> x=1-y

If y=0,thenx=1-0=1
If y=1,thenx=1-1=0
If y=2,thenx=1-2=-1

x| 140 -1

Hence yloln 5

Now we plot the points (1, 0), (0, 1) and (- 1, 2) on the graph and join them to get another line.
We see that these two lines intersect each other at (2, — 1).

Hence solutionisx=2,y=-1 Ans.
Q.4 3x-5y+1=0,2x-y+3=0
Sol. 3x-5y+1=0

=S 3x=5y-1
& v

x=_ I
3

5(-1)-1 —5-1
3 43

If y=—1, then x=

Sl $20-1 21 |
3 FEE D AN

Ix2 =1"""10=1""9
3 3 3

If y=-4, then x =

=3

If y=2, then x =

X | =2 | =7 |3
Hence | v [~=1 | -4 |2

Now we plot the points (—2,- 1), (- 7,-4) and (3, 2) on the graph and join them to form a line.

Again 2x-y+3=0 g
=5 2x=y-3
B =
2
i y=ithen | 2= =Stk
y_ 1 cn 2 -3 2 =
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3-3
If y=3, then x=T=0
x—s_-a...:E:l
If y=35,then X= ) 5
x| =-110]1

Now plot the points (- 1, 2), (0, 3) and (1, 5) and join them to form another line.

We see that these two ljnes intersect each other at (-2, 1).
Hence solutionisx=-2,y=1. Ans.

2x-3y=6,2x+y+10=0
2x-3y=6 = 2x=3y+6

3y+6
=
. - 3x0+6 6_3

Downloaded from https:// www.studiestoday.com

» X



Downloaded from https:// www.studiestoday.com

114
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If y=-2,then x=

If y=-4,then

Hence

Y.f
3x(-2)+6 _-6+6_0'
2 R
x=3(-4)+6  =12456 ___-—6=h3
2 2 2

X lg3-ln0r] =3
y (0] -2 | -4

> X

Now we plot the points (3, 0), (0, — 2) and (- 3, — 4) on the graph and join them to form a line.
Agam 2x+y+10=0

If y=0,
If y=-2,
If.oy=-4

2x=-(y+10)
Jt=_(y+10)
2
-(0+10) -
then x = (2 )= 210=—5
-(=2+10) -8
X = — = -4
then > >
-(-4+10) -6
X = = =—3
fisn 2 2
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x| -5| -4 | -3

Hence y| 0 |-2]|-4

Now we plot the points (- 5, 0), (— 4, — 2) and (- 3, — 4) on the graph and join them to form
another line, We see that these two lines intersect each other at (- 3, — 4).

.. Solutionisx=-3,y=-4 Ans.
Q.6. 2x-y+4=0,3x+2y-1=0

Sol. 2x—y+4=0 — 2x=y—4 = X =

If y=0, then
If y=2, then e el N
2 2
If y=4, then x=4;4=0
x | -2 | -110
Hence y _0' 2 | 4

Downloaded from https:// www._studiestoday.com



Downloaded from https:/f www.studiestoday.com

116

Q.7.
Sol.

Now we plot the points (- 2, 0), (- 1, 2) and (0, 4) on the graph and join them to form a line.
Agan3x+2y—-1=0

3x=1-2y
1-2
X = d
3
1-2(2) 1-4 -3
- = = = —==]
If y=2, then x 3 3 3
1-2(-1) 1+2 3
= — — =—=]
If y=-1, .then X 3 3 3
1-2(-4) 1+8 9
—g— = — =—._3
If y=-4, then X 3 3 3
x | -1 ] 3
Hence ol S g (| X

Now we plot the points (— 1, 2), (1, — 1) and (3, — 4) on the graph and join them to form another
line.

We see that the two lines intersect each other at (- 1, 2).

Hence solutionisx=—-1,y=2 Ans.

x+3y=8,3x=2+2y

x+3y=8
x=8-3y
If y=2, then x=8-3x2=8-6=2
If y=3, then x=8-3x3=8-9=-1
If y=4, then x=8-3x4=8-12=-4
x (2| -1| -4
Hence - v L2 [ba 4

Now we plot the points (2, 2), (- 1, 3) and (- 4, 4) on the graph and join them to form a line.
Agam3x=2+2y

242y
X =
3 .
I " x=2+2x2=2+4=E=2
If y=2, . en 3 3 3
th x_2+2x5_2+10=£=4
If y=3, e 3 3
2+2(-1) 2-2
R = = = ()
If y 1, then Xx 3 3
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Y
&

-1, 3)

e -

/

- X

g -8 -7 -8 5 —4 -3 -2

=241 O

Hence yl2]s |-

Now we plot the points (2, 2), (4, 5) and (0,—- 1) on the graph and join them to get another line.
We see that these two lines intersect each other at (2, 2).
Hence solutionisx=2,y=2 Ans.

x+y=-1y-2x=-4

x+y=-1

g==l=y==1+y)
If y=1, then x=-(1+1)=-2
If y=2, then x=-(1+2)=-3

If y=-1, then x=-(1-1)=0

x | -2 | -3 0

H&nce - y 1 2 _ l

flow we plot the points (— 2, 1), (-3, 2) and (0, — 1) on the graph and join them to form a line.
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X«

Q.9.

Sol.

_B..
Y
YJ"
Again y—-2x=-4
y=2x-4
If x=0,then y=2x0-4=0-4=-4
If x=2,then y=2x2-4=4-4=(
If x=3,then y=2%x3-4=6-4=2
X 0 2 153
Hence AR TR

Now we plot the points (0, — 4), (2, 0) and (3, 2) on the graph and join them to form another
line. We see that these lines intersect each other at (1, - 2).

Hence solutionisx=1,y=-2 Ans.
2x+5y=-1,3x-y=7

2x+5y=7-1
2x=-1-5y=—=(1+5y)
-(1+5y)
X =
2
—(1+5x1) -(1+3) -6
If y=1,then x= ( )= ( )=—=-3

2 2 2
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[ N R R = T — S e e

3. 2)

X'e e — ] e > X
-$ -8 -7 6 -5 -4 -3 -2 -1 1 4 5 6 7 8 9
-2+

-3+

(7, -3)

~1+5x(-1)) -(1-5 -(-4) 4
= —] — =————=—=2
If y 1, then x 5 3 > 5
~[1+5x(-3)] -(1-15) -(-14) 14
-— — = — = =7
Ify 3,then Xx > 5 3 3
x| -3 2 it
Hence T

Now we plot the points (— 3, 1), (2, — 1) and (7, — 3) on the graph and join them to form a line.
Again 3x-y=7

3x=y+7

gt
If y=2, -then x=2;7;%=3
I ==, then x=_13+7=§=2
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-4+7 3
If y=-4, then x = - =§=1

< I3 2 1

Hence yl2|-1f~a

Now we plot the points (3, 2) (2, — 1) and (1, — 4) on the graph and join them to form another
line.

We see that the lines intersect each other at the point (2, — 1).
Hence the solutionisx=2,y=-1 Ans.
Q.10. x+6y=11,2x-3y=7
Sol. x+6y=11 = x=11-6y
If y=1,then x=11-6x1=11-6=5
If y=2,then x=11-6x2=11-12=-1
If y=3,then x=11-6x3=11-18=-7

Y
4

-+

T

+

(-7,3)
W.

-1.2)

W & OO O N @

1- -----------

X e e}
8 -7 =8 =5 —4i=8 wP-wi

Hence y 1 2 3
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Now we plot the points (5, 1) (= 1, 2) and (- 7, 3) on the graph and join them to form a line.
Again 2x-3y=17

2x=3y+7
3
— y+17
2
X . J.C_Z‘$>~:1+‘7_¢3+7=10=5
If y=1, en 5 5 3
x—-3x(_l)+7—_3+7 =£=2
If y=-1, then = 5 W) 5
-3(_3)+7='9+7="2=-1
If y=-3, then X = 5 5 B
x 129 |2 1=
Hence s 1 7 O

Now we plot the points (5, 1), (2,~ 1) and (- 1, - 3) on the graph and join them to form another
line.
We see that, these lines intersect each other at (5, 1)
Hence the solutionisx =35, y=1 Ans.
Q.11. 4x-5y=-4,3x=2y-3
Sol. 4x-5y=-4

4x=5y-4
5y-4
T
J‘:_,5:«:0-4=—4=_1
If y=0,then x= A 1
_5x4-4 _ 20-4 _ 16 _
I =4, theny ¥ ==——=~7—=";=4
_S5x(-4)-4 _-20-4 _-24
If y=—4,thenXx= a = T T i
x| -1|4/|-6
Hence y|l o |4]| 4

Now we.plot the points (- 1, 0), (4, 4) and (- 6, — 4) on the graph and join them to form a line.
Again  3x= 2y-3
| 2y-3
3

X =
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i

N WA O O N O

/

2x0-3 _ =3 _ 4

If y=0,then X=

3 3

If y=3,then X= 3 =73 b
_2x6-3_12-3_9 _
If y=6,then X¥=""7— =—3 =73 3
x| -1[1]|3

Hence yl o [3]e6
Now we plot the points (- 1, 0), (1, 3) and (3, 6) on the graph and join them to form another
line.
We see that the lines intersect each other at the point (- 1, 0)
Hence solutionisx = -1, y=0 Ans.
5x-8y=-4,2x-7y=6

S5x-8y=-4 = 5x=8y-4
8y—-4
R
8x (-2)-4 _ -16—-4 _ =20 _ 4
If y=-2,  then X¥=—"-g w4 e
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b ¢
10
9
¢ (12, 8)
5
6 A
5 ‘J""b\"
4
2 4.3)
. | e
1
" T12-11-10 -9 -8 -7 6 -5 —4 -3 - 017 3 4 5 6 7 8 9 10 11 12
o4, -2) -2
-3
-11, -4) -4
-5
-6
-7
-8
-9
-10
"-l-n Y’
- . =8x3-4=24—4___20=4
If y=3, then X s 5 5
l‘ y-nl then X 5 . 5 5
x| 4]4]12]
Hence v|-2|3]8
Mﬂﬂﬁﬂnpdﬁn(—-t—!),(s,:i)md(ll 8) and join them to form a line.
R 6+7y
. M 2x-7y=6 = = 2x=6+7y = X= >
i 'h [ = R e |
;11; ( - :-.g_t.%ig-..g.=3
L R PR

- . | ‘
~ Downloaded from https:// www.studiestoday.com .
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If y=-4,then b

Hence ylo]| =2 4

Now we plot the points (3, 0), (=4, —2) and (-11, — 4) and join them to get another line.
We see that these lines interesect each other at (- 4, —2)

Hence solutionis x =— 4, y=— 2 Ans.

"Q. 13. Solve graphically, the system of equationsx +2 y—-7=0,2x~y+ 1 =0. Find the co-ordinates
of the points, where the lines meet y-axis.

Sol. x+2y-7=0 = x=7-2y
If y=1,then x=7-2x1=7-2=3
If y=2,then x=7-2%x2=7-4=3
If y=3,then x=7-2x3=7-6

X« e+
-9 -8 -7 6 -6 -4 -3 -2 -
|
54
51
7%
-84
VY
215 3 Hicl
Hence y|l1[2]3

Now we plot the points (5, 1), (3, 2) and (1, 3) and join them to form a line.
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| . _-——-———_—'—___y_l
Again 2x-y+1=0 = 2x=y-1 = x_T
1-1
If y=1, then x——2—=0
_ e e 3
If y=3, then *¥= > >
x-—i—_l.=i='2
If y=3,then =7 5
x |0 1] 2
Hence R

Now we plot the points (0, 1), (1, 3) and (2, 5) and join them to form another line.

We see that line x + 2 y — 7 = 0 intersects y-axis at A and the line 2 x — y + 1 =0 intersects y-
axis at B and intersect each other at (1, 3)

. Co-ordinates of A are (0, 3-5) and of B are (0, 1) and solutionisx=1,y =3 Ans.

Q. 14. Solve graphically, the system of e‘quatmns 2 x+y=8,x+1=2y. Find the co-ordinates of the
points, where the lines meet x-axis.

Sol. 2x+y=38

y=8-2x

YI

:.__‘_ ; . . Downloaded from hitps:// www.studiestoday.com
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If x=1,then y=8-2x1=8-2=6
If x=2,then y=8_2x2=3_4=4 /
If x=3,then y=8-2x3=8-6=2
X 152 10 3
Hence AGITET

Now plot the points (1, 6), (2, 4) and (3, 2) on the graph. Join them to form a line.
Aganx+1=2y
x=2y-1
If y=I1,then x=2x1-1=2-1=1
If y=2,then x=2x2-1=4-1=3
If y=3,then x=3x2-1=6-1=35

x4 a3 3

Hence yl1|2]3

Now plot the points (1, 1), (3, 2) and (5, 3) on the graph and join them to form another line.

We see that these lines intersect each other at (3, 2)
" Solutionisx=3,y=2.
The line 2 x + y = 8 intersects the x-axis at (4, 0) and the line x+1=2,yat(=1,0) Ans.

. Draw the graphs of 2x—y—-1=0and 2 x + y=9 on the same axis. Use 2 cm = | unit on both

the axes. Write down the co-ordinates of the point of intersection of the two lines.

2x-y-1=0
2x=y+1
I=y+1
2
1+1 _ 2
— x:-————:—zl
If y=1, then 2 S
3+1_ 4
— -—_="-=2
If y=3, then X 5 5
If y=-1, then x—_12+l=9
x |12 0
Hence yl1]3]-1

Now plot the points (1, 1), (2, 3) and (0, — 1) on the graph and join them to form a line.
Again 2x+y=9

. y=9-2

If x=1,then y=9-2x1=9-2=7

If x=2,then y=9-2x2=9-4=5

Downloaded from https:// www.studiestoday.com . 'y




Downloaded from https:// www.studiestoday.com

127

L e S T e » X
-9 -8 =7 -6 -5 -4 -3 -2 -1
___G &+
_?’ S
_B I
Y
Y!
If x=3,then y=9-2x3=9-6=3
| IR G e A [
Hence ARG E
Now plot the points (1, 7), (2, 5) and (3, 3) on the graph and join them to form another line.
. L 5
We see that these lines intersect each other at (5 y 4)-

Q. 16. Use graph paper for this question. Take 2 cm = 1 unit on both the axes.
(i) Draw the graphs of x + y+3 =0 and 3 x - 2 y + 4 = 0 on the same axes.
(ii) Write down the co-ordinates of the point of intersection of the lines.
Sol. x+y+3=0
x=-(y+3)
If y=0, then x=-(0+3)=-3
If y=-1 then x=-(-1+3)=-(2)=-2

Ify=-3, then x=-(-3+3)=0
| | x |[-3]-21]0
Hence y 0 -1 =3
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Now we plot the points (- 3, 0), (-2, - 1), and (0, - 3) on the graph and join them to form a line
Agan3x-2y+4=0
3x=2y-4

2y—4
3

X =

2x()-4 _-2-4_ =6

If y=-1, then x=

3 3 3
, Ix2-4 - 4-4
If y=2, then X~= x3 T 3 =0
L 2x3~4_10=-4 6.0
If y=35, then X = 5 3 3

. =1 +210.]2
kinne y|[-1}2]5

Now we plot the points (- 2, — 1), (0, 2) and (2, 5) on the graph and join them to form another
line.

We see that these lines intersect each other at (- 2, - 1)

Hence solutionisx = -2,y =~ 1 Ans. PR
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:Q. 17.. Taking 2 cm = 1 units on both axes, draw the graphs of x + y +2 =0 and B*x—4y= 15 on the
same axes. Write down the co-ordinates of the point of intersection of the lines.

Sol. x +y+2=90

x=-(+2)
If y=0, then x=-(0+2)=-2
If y=1, then x=-(1+2)=-3

If y=-2, then x=-(-2+2)=0

il =1 =310

L Now we plot the points (— 2, 0), (=3, 1) and (0, - 2) on the graph and join them to form a line.
Again 3x-4y=15

| 3x=4y+15

; | ‘ . 4y+15

l | , =

| | x 3
" _4x0+15 _0+15 _ 15 _
If y=0, then *¥=—" 3 =3 -3-5
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4x(-3)+15 —12+15 3
I_f =_3, t_h X = = = —= l
% i 3 T
_ 4x(-6)+15 -24+15 -9
lf =-0 tl X = = — = -3
y 1en : 3 3
X 1S | -3
Hence v 1| 0 [c=3ulres

Now we plot these points (5, 0), (1, - 3) and (- 3, — 6) on the graph and join them to form
another line. We see that these lines intersect each other at (1, = 3). Ans.

Q. 18. Solve graphically, the system of equations 3 x~5y+18=0,3 x + 5y =12. Take 2 cm = 2 units
on x-axis and 2 cm = 1 unit on y-axis.

Sol. 3x-5y+18=0 = 3x=5y-18 = x=5y;]3
Sx0-=18 +«I18
If y=0,then 3 3
5x3-18 15-18 -3
= X = - = e—= -
If y=3, then 3 ; - I
5x6-18 30-18 12
If y=6,then - s -

Hence y 0 3 6
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Now we plot the points (-6, 0), (= 1, 3) and (4, 6) on the graph taking 2 cm = 2 units and join
them to form a line.

_12-5y
3

Agam3x+5y=12 = 3x=12-5y =k
12-5x0 _12-0 _12 _,

If y=0,then X*=

3 3 3
12-5x3 12-15 -3
— = = -~ — —l
If y=3,then X 5 E 3
12-5x6 12-30 -18
R = = — — _6
If y=6,then * 3 3 5
x| 4| -1| -6
Hence ylo] 3 6

Now we plot the points (4, 0), (- 1, 3) and (- 6, 6) on the graph taking 2 cm = 2 unit and join
them to form another line. We see that these two lines interesect each other at (— 1. 3). Hence
=— 1, y= 3 is its solution. Ans.

Q. 19. Solve graphically, the simultaneous equations 2x =y +3,3y=35 —x.
Take 2 cm = 1 units on both the axes.

Sol. 2x=y+3
x=y+3

2

If y=1,

X -t
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”
3+3 _ 6
- I:—:—:B
If y=3, then 5 )
-1+3 2
= — =—=l
If y Ik then X 3 >
¥ a2~ k3 |
Hence AN

Now we plot the points (2, 1), (3, 3) and (1, — 1) on the graph taking 2 cm = I unit
and join them to form a line.
Agam 3y=5-x

_5—-x
P
5-2 3
— :—-—-:—-:1
If x=2, then YV 5 3
5-(-1) _5+1 _6
[— - — — =—=2
If x 1, then Y E 3 3
5-5 0
L | = e 2=
If x=3, then Y 5 3
x 2 =1 D
Hence y |1 2 | 0

Now we plot these points (2, 1), (- 1, 2) and (5, 0) on the graph and join them to form another
line. We see that these two lines intersect each other at (2, 1).

Hence solutionis x =2, y=1 Ans.
Q. 20. Using 1 cm = 1 unit on both the axis, draw the graphs of the line
5x-y=15, 5x-6y+10=0,
From the graph, find :
(/) the co-ordinates of the point of intersection of the lines.
(if) the axes of the triangle between the lines and the x-axis.

+15
Sol. 5x—-y=15 =y .. J5x=pt-l L x=y5
0+15 15
= = : = =3
If Y 0, then oo 5 5
5+15 20
b X - 4
I'f y_sir then, X 5 5
h x='5+]5=10=2
If y=-5, en - :
| > o S (S [ 1
Hence AT |
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T\_Inw we plot the points (- 2, 0), (4, 5) and (- 8, — 5) on the graph and join them to form another
line. We see that these two lines intersect each other at (4, 5).
These lines intersect x-axis at B (- 2, 0) and C (3, 0),

~ AD L BC

]
2 AreaofﬁABc=5"BC"AD =“;—x5“5=275=12-55q.unitsAns.

Q. 21. Determine graphically the co-ordinates of the vertices of the triangle, the equations of whose
sides are given below :

2y-x=8, Sy-x=14 and y-2x=1

Sol. 2y—x=38 — ly=x+8 = y=I~2i-8
0+8 8
= = =—=4
i x=0 then V - -
Y
‘10I

X
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Q. 22.

Sol.

135
_ﬂ
' -2+8 6
—_ — =—=3
If x=-2, then YV ) 5
-4+8 4
- = =—=2
If x=-4, then YV 5 5
x |0 -21]-4
Hence ylal 3 7

Now we plot the points on the graph and join them to form one side of the triangle.
Again Sy-x=14 = Sy=14+x

14 +x
b i,
14+1 15
= — — :3
If x=1, then Y 3 5
-4 10
If x=-4, then }’=14 =—=12
5 5
14-9 5
— =-—-—-—-=-—-=1
If x=-9, then Y 5 5
x| 1| -4]|-9
Hence y |3 2 1

Now we plot these points (1, 3), (—4, 2) and'(- 9, 1) and join them to form a second side of the
triangle.

Again y=-2x=1 > y=1+2%«
If x=1, then y=1+2x]1=1+2=3
If x=0, then y=1+2x0=1+0=1

If x=-1, then y=1+2x(-1)=1-2=-1

x| 110 -1

Hence bl 1| =

Now we plot these points (1, 3), (0, 1) and (- 1, — 1) and join them to form the third side of the
triangle.

We see that these three lines intersect each other at three points A (- 4, 2), B (1, 3) and
C(2,5) Ans.

Determine graphically the co-ordinates of the vertices of the triangle, whose equations are
given below :
y=0, y=x
~and 2x+3y=10.
(i)y =0, It x-axis
_ +H(y)-y“= X
Here values of x and y are equal.
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Hence

Now we plot these points (1, 1), (2, 2) and (3, 3) and join them to form the second hine.
Again 2x+3y=10

2x=10-3y
x=10—3y
2
__lﬂ-—3x0=10—-ﬂ=10=5
If y=0,then X= 5 5 7
10-3x2 _ 10-6 _ 4
= = - =2=2
If y=2,then X 5 5 7 s
r x=10—3x4=”}—12=—2=__l
If y=4, then 5 7 5
x| 512 -1
Hence ylo]2] 4

Now we plot these points (5, 0), (2, 2) and (- 1, 4) and join them to form the third line.
We see that these three lines intersect each other at A (2, 2), B (0, 0) and C (5, 0) Ans.
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Q. 1.

Sol.

Q. 2.

Sol.

EXERCISE 7 (F)

The sum of two numbers 1s 53 and their
difference is 25. Find the numbers.

Let first number = x
and second number =y
Now according to the condition,

x+y=33 ..(7)

and x—y=25 i)
Adding, we get, 2 x = 78
78

x =— =239
= 2
and subtracting, we get
8
2y=28 o y=5 =1

. First number = 39 and
and second number = 14 Ans.

The sum of two numbers exceeds thrice
the smaller by 2. If the difference between
them is 19, find the numbers.

Let first number =x

and second number = y

According to the conditions,
Xihgi=3 b2 = x +y-3y=2

x=2y=2 ..(7)
and x—-y=19 .. (i)
from (if) x=19+y ... (i)
Substituting the value of x in (i)
19+y-7y=2 = 19-y=2
= —-y=2-19 = —-y=-17
=17
Substituting the value of y in (iii)
x=19+17=36

Hence numbers are 36, 17 Ans.

. The sum of two numbers is 51. If the
larger is doubled and the smaller is

tripled, the difference is 12. Find the
‘numbers.

*SQ’F m Imlmmhm'ﬂ

_mm ‘number =y

Q. 4.

Sol.

Q.5.

According to the conditions,
x +y=1351 ..(7)
2x-3y=12 ..(77)
Multiplying (7) by 3 and (77) by 1, we get
3x+3y=153

2x-3y=12
Adding, 5 x= 165
_ 165 _ 13
5
Substituting the value of x in (7)
33 +y=1351

= y=51-33=18
Hence larger number = 33
and smaller number = 18 Ans.

Find two numbers such that the sum of
twice the first and thrice the second is
103 and four times the first exceeds seven
times the second by 11.

Let first number =x
and second number =y
According to the conditions,
2x+3y=103 ..(7)
4x-7y=11 s (i)
Multiply (¥) by 7 and (i7) by 3. we get,
14x+21y=721

12x-21y =33
Adding, 26 x = 754
_ 7154 _ g
26

Substituting the value of x 1n (7)
2x29+3y=103
= 58+3 y=103
=3 y=103-58=45
45 _ 15

= y=-?=

Hence first number = 29
and second number = 15 Ans.

Find two numbers such that the sum of
thrice of the first and the second is 142
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Sol.

Sol.

and four times the first exceeds the
second by 138.

Let the first number = x

and second number = y

Now according to the conditions,
3x+y=142
4x—y=138

Adding, we get
7x=280

()
...(ii)

x =280 _ 40
7

Substituting the value of x 1n (7)
3x40+y=142
120 +y = 142
y=142-120=22
First number = 40

=)
—

and second number = 22 Ans.

. Of the two numbers, 4 times the smaller

one 1s less than 3 times the larger one by
6. Also, the sum of the numbers is larger
than 6 times their difference by 5. Find

the numbers.

Let the larger number = x

and the smaller number = y

Now according to the conditions,

3x-4y=6 ..(7)
x+y-6(x-y)=>5
=>x+y—-6x+6y=3
= -5x+7y=35 ulit)
Multiply (7) by 7 and (77) by 4,
21 x-28y=42
-20x+28 y=20
Adding, we get,
x =62 |
Substituting the value of x in (7)
3Ix62-4y=6
= 186-4y=6

= —4y=6-186=—180

Q.7.

Sol.

Sol.

Larger number = 62
and smaller number =45 Ans.

If from twice the greater of the two
numbers, 45 is subtracted, the result is
the other number. If from twice the
smaller number, 21 1s subtracted, the
result is the greater number. Find the
numbers.

Let larger number = x
and smaller number = y

2x—-45=y
= 2x-y=45 ..(7)
2y-21=x
= x-2y=-121 .. (i)
Adding, we get,
3x-3y=24
= x—-y=28 .. (717)
(Dividing by 3)
Subtracting, we get,
x+y=66 o..(iV)
Again adding (77/7) and (iv), we get
2x=74 = x=Tt=37

Subtracting (ii7) from (iv),

58
_ 58 _ 99
N D

2y=58 =

Hence larger number = 37
and smaller number = 29 Ans.

. If three times the larger of the two

numbers is divided by the smaller, then
the quotient is 4 and remainder is 5. If 6
times the smaller is divided by the larger,
the quotient is 4 and the remainder is 2.
Find the numbers.

Let the larger number =x
and the smaller number =y
We know that, number =
Divisor x quotient + remainder
Now, according to the conditions,

Downloaded from https:// www.studiestoday.com




Q. 9.
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3x=4y+5
= 3x-4y=) ..()
and 6y=4x+2
= 4x-6y=-2
= 2x-3y=-1 ..(i)
(Dividing by 2)

Multiplying (7) by 3 and (i7) by 4, we get
9x-12y=15

8x-12y=-4
Subtracting we get,
x=19
Substituting the value of x in (7)
3x19-4y=5 = 57-4y=35

——4y=5-57 > -4y=-52

_52
=52 _y3
ke gl

Hence larger number = 19
and smaller number = 13 Ans.

If 2 is added to each of the two given
numbers, then their ratio becomes 1 : 2.
However, if 4 is subtracted from each of

the given numbers, the ratio becomes
5 : 11. Find the numbers.

Let the first number = x
and the second number =y
Now according to the conditions,

x+2 1

y+2 2
= 2x-y=2-4
= 2x-y=-2
xl-4__ 5
| y-4._-1_1

= 2x+4¥y+2

()

and

= lx-44=5y-20
- = llx-5y=44-20

= 1lx-5y=24 (i)
Multiplying (/) by 5 and (i7) by 1, we get
10x-5y=-10
11x-5y=24

139 |

Q. 10.

Sol.

Q. 11.

Sol.

Subtracting we get,

-x=-34 = x=34
Substituting the value of x in (7)
2x(B34)-y=-2 = 68-y=-2
= —y=-68-2=-70

y=170
Hence numbers are 34, 70 Ans.

The difference between two numbers 1s
12 and the difference between their
squares is 456. Find the numbers.

Let the first number = x
and second number =y
Now according to the conditions,

x—y=12 k)
and  x%-)*=456 ..(if)
Dividing (i7) by (7)

 Sabiet A -

X=1y 12
(x+»)(x-)) _ 456
45 =
X=y 12
= x +y=238 .. (iit)
Adding (7) and (ii7), we get
0 .
2 x =50 — X = 5? =29
and subtracting (7) from (777),we get
6
2 ye=26 — y=%—=13.

Hence numbers are 25 and 13 Ans.

Find the fraction which becomes 5 when

its numerator is increased by 6 and 1s

1

5 when its denominator 1s

increased by 7.

equal to

Let numerator of the fraction = x
and denominator =y

X

then fraction = ;
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Sol.
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Now according to the conditions,

x+6 1 :
y — 5 = 2x+12=y ..(i)
g | -
y+7- 3 = 3x=y+7
= 3x-y=17 ..(i)

Substituting the value of y from (7) in (77)

3x-2x-12=7 = x-12=7
x=7+12=19

Substituting the value of x in (7)

2%x19+12=y = y=38+12=350

. Fraction = :E = -é% Ans.

A fraction becomes 'i' when 1 1s

subtracted from its numerator and 1 1s
added to its denominator. Also, it

becomes ‘;‘ when 6 is subtracted| from

its numerator and 1 from the
denominator. Find the original fraction.
Let numerator of the fraction = x

and denominator =y

then fraction = 2
vy

Now, according to the conditions,

x-—-l=1

=2x-2=y+]1

y+1 2
= 2x-y=1+2
= 2x-y=3 (1)
x—6 _ '
and y-1 =3 @ 3x-18=y-1
=3x—y=18-1=17 ...(i7)
Subtracting (7) from (i7)
x=17-3=14

Substituting the value of x 1n (7)
2x14~-y=3 = 28—-y=3
—>-y=3-28=-25

Q. 13.

Sol.

Q. 14.

Snl.

o y=25

Hence nriginr;l fraction = = = .

y 25
The denominator of a fraction is greater
than its numerator by 9. If 7 is subtracted

from both, its mnumerator and
2

denominator, the fraction becomes 1

Ans.

Find the original fraction.
Let numerator of fraction =x
and denominator =y

x
then fraction =

¥
Now according to the conditions,
y=x+9
= x-y==9 ..(7)
x-7 _2
and =1 g
= 5x-35=2y-14
= S5x-2y=-14+35=21 .. (i)
from (i), x=y-9 L)

Substituting the value of x in (i7)
5(p-9)-2y=121

= S5y45-2y=21
= 3y=21+45=066

66

=—=22
= X 3
Substituting the value of y in (i)
x=22-9=13
A B

. Original fraction = _, = -5 Ans.

y 22

A number consists of two digits, the
difference of whose digits is 3. If 4 times
the number is equal to 7 times the number
obtained by reversing the digits, find the
number.

Let umt’s digit = x

and ten’s digit =y

then number=x+ 10 y
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Sol.

Downloaded from https:// www.studiestoday.com

By reversing the digits,

the unit’s digit of new number =y

and ten’s digit = x

then number =y + 10 x

Now according to the conditions,
y-x=3 )

and4 (x+10y)=7(+ 10x)

= 4x+40y=7y+70x

= 40y-7y=70x-4x

= 33 y=606x
_ 33y _1 ;
Xi= 66 2_}’ .. (i)
Substituting the value of x in (i)
1 y
e T | L. 3
Y 5 y = .
= y=0

Substituting the value of y in (#7)
x=lx6=3
2

s, Number=x+10y=3+10x6
=3+ 60 =63 Ans.

A number consists of two digits, the
difference of whose digits is 5. If 8 times
the number is equal to 3 times the number
obtained by reversing the digits, find the
number. '

Let unit’s digit of the number = x
and ten’s digits =y

then number =x + 10y

By reversing the digits

the unit’s digit of new number =y
and ten’s digit = x

o number=y+ 10x

Now according to the conditions,

. x-y=35 (1)

and 8 (x +10)=3 (v + 10x)
= 8 x -li-;.S-Dy= 3y+30x

= Bﬁ‘f—: 3-;-_’-'30.:— g%

Q. 16.

Sol.

= 22x=77y ,
= 2x=Ty G
from (7)), x=5+y ..(#ii)

Substituting the value of x in (77)
25+y)=Ty=>10+2y=7y
=7y-2y=10 =2 5y=10
10

—-—— =2
Lor

Substituting the value of y in (7i7)

2x=7%x2 = 2x=14
14
= x=—2—=7
Number=x+lﬂy=-7+ll}x2
=7+ 20=27 Ans.

The result of dividing a number of two
digits by a number with digits reversed

3
IS IT. If the sum of the digits is 12, find

the number.

Let the unit’s digit of the number = x
and ten’s digit = y

then the number=x+ 10y

By reversing the digits,

the unit’s digit of the new number =y
and ten’s digit =x

then number=y+ 10x

Now according to the conditions,

= 4x+40y=7y+70x
= 40y-7y=70x-4x
= 33y=0606x

2wl (i7)
= X = _6€y = 7
Substituting the value of x in (7)

Y py=12 = 2y=12
TR e iy ¢
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Q. 17.

Sol.

Q. 18.

Sol.

142
2
= y—x]2><—3——8
L
X=5=3 =}

Hence given number =x+ 10y

=44+ 10 x § =4 + 80 = 84 Ans.

When a two-digit number is divided by
the sum of its digits, the quotient is 8.
On diminishing the ten’s digit by three
times the unit’s digit the remainder
obtained is 1. Find the number.

Let unit’s digit of the number = x
and ten’s digit = y

then number =x+ 10y

Now according to the conditions,

x+10y _3
Xty
— x+10y=8x+8y
= 10 y—-8y=8x—-x
= 2y=17x
= 7x-2y=0( ..(7)

from (i), y=3x + 1

Substituting the value of y 1n (7)
7x-2@3x+1)=0

= 7x-6x-2=0

x=2
o y=3x+1=3x2+1=6+1=7
Hence number=x+ 10 y=2+ 10 x 7
=2+70=72 Ans.

A number of two digits exceeds four
times the sum of its digits by 6 and the
number 1s increased by 9 on reversing
the digits. Find the number.

Let units digit of the number = x
and ten’s digit = y
then number =x + 10 y

On reversing the digit of the given
number, \

the unit’s digit of new number =y

Downloaded from https:// www.studiestoday.com

Q. 19.

Sol.

and ten’s éigit =x
Number=y+ 10 x
Now according to the conditions,
x+10y—-4(x+y)=6
~ x+10y-4x-4y=6
= -3x+6y=6
=5 x—-2y=-2 .. (1
(Dividng by 3)
andx+10y+9=(+10x)
x+10y=-9+y+10x
= x-10x+10y-y=-9

— -9x+9y=-9
=5 x—y=1 ...(I7)
Subtracting (i7) from (7)
-y=-3 > y=3
“x=-3=1 o x=1+3=4

Hence number=x+10y=4+ 10 x 3
=4+ 30 =34 Ans.

The sum of the digits of a two-digit
number is 12. If the digits are reversed,
the new number is 12 less than twice the
original number. Find the original
number,

Let unit’s digit of the number = x

and ten’s digit =y

then the number =x+ 10 y

On reversing the digits,

the unit’s digit = y

and ten’s digit = x

then number =y + 10 x

Now according to the conditions,
x+y=12 ..(7)

andy+10x=2(x+10y)- 12

= y+10x=2x+20y-12

= 10x-2x+y-20y=-12 i

= 8x-19y=-12 (i)

from (i), x=12-y |
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_Substituting the value of x in (77)
8(12-y)-19y=-12
= 96-8y-19y=-12
= 96-27y=-12
= =27y=-12-96=-108
-108
A ot
x=12-y=12-4=38
Hence number = x + 10y=8+10x%x4
=8 + 40 =48 Ans.

Q. 20. If 11 pens and 19 pencils together cost
Rs. 502 ; while 19 pens and 11 pencils
together cost Rs. 758, how much 3 pens
and 6 pencils cost together ?

Sol. Let price of one pen = Rs. x
and price of one pencil =Rs. y
According to the conditions,

11 x+ 19y =502 ..(7)
"19x+ 11 y=758 ...(iM)
Adding we get,
30x+30y=1260
=5 x+y=42 ..(117)
(Dividing by 30)
Subtracting (i7) from (7), we get
~-8x+8y=-256
x—y=32 ..(iv)
(Dividing by — 8)
Again, adding (i77) and (i),
2x=174 = x = % = 37
and subtracting

10
2y=10 = y=7=5

Price of one pen = Rs. 37
and price of one pencil = Rs. 5
Now cost of 3 pens and 6 pencils
- ~=Rs.(3x37+6x5)

,- *J k ? *.‘r:'h} i .

rN\ . 111 +Rs. 30 = Rs. 141 Ans.

Ly

Q. 21. 5 kg sugar and 7 kg rice together cost

Rs. 258 while 7 kg sugar and 5 kg rice
together cost Rs. 246. Find the total cost
of 8 kg sugar and 10 kg rice.

Sol. Let price of 1 kg sugar =Rs. x

and priceof 1 kgrice=Rs. y
Now according to the conditions,
Sx+7y=1258 (1)
Tx+5y=246 .. (1)
Adding (7) and (77), we get
12x+12y=3504
x+y=42 .. (7i1)
(Dividing by 12)
and subtracting (77) from (7)
] 2x- 2y=-12
x=y=-=0 ..(7v)
(Dividing by 2)
Again adding (#i7) and (iv)

36
2x=36 = X = T =18
Subtracting (7v) from (iii)
48
2y= 48 = Y= T =24

. Price of 1 kg sugar =Rs. 18

and price of 1 kg rice = Rs. 24

Now cost of 8 kg sugar and 10 kg of
rice

=Rs. (8 x 18 + 10 x 24)

= Rs. 144 + Rs. 240

= Rs. 384 Ans.

Q. 22. One year ago, a man was four times as

old as his son. After 6 years, his age
exceeds twice his son’s age by 9 years.
Find their present ages.

Sol. Let present age of son = x years

and age of his father = y years
According to the conditions,

One year ago. Age of son = (x + 1) and
age of father = (y + 1) years

Sy=-1=4(x-1)=y-1=4x-4
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Q. 23.

Sol.

= 4x-y=4-1

= 4x-y=3 (1)

6 years after, age of son = (x + 06) years

and age of father = (y + 6) years
y+6=2(x+06)+9

= y+6=2x+12+9=2x+2]

=>2x-y=-21+6

—=>2x-y=-15 ..(71)
Subtracting (i7) from (7)
18
2x=18 — 1 e 9

Substituting the value of x in (7)
4x9-y=3 o> 36-y=3

= —y=3-36

= —-y=-33 = y=33

Hence present age of father = 33 years

and age of son =9 years Ans.

5 years ago, A was thrice as old as B
and 10 years later, A shall be twice as
old as B. What are the present ages of A
and B ?

Let present age of A = x years
and age of B = y years
5 years ago,
Age of A= (x - 5) years
Age of B = (v — 6) years
10 years later,

Age of A = (x + 10) years
and Age of B = (y + 10) years
According to the conditions,

and

(x-35)=3(-9)
= x-5=3y-15
= x-3y=-15+5
=5 x-3y=-10 ..(7)

and (x+10)=2 (y + 10)
= x+10=2y+20

= x-2y=20-10=10
Subtracting (i7) from (7)

.. (1)
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Q. 24.

Sol.

—y==20 = y=20
Substituting the value of y in (7)
x-320)=-10 = x-60=-10

x=-10+60=50
Hence present age of A = 50 years
and age of B = 20 years Ans.

The monthly incomes of A and B are 1
the ratio of 7 : 5 and their expenditure
are in the ratio of 3 : 2. If each save
Rs. 1500 per month, find their monthls
incomes. '

Let income of A =Rs. x p.m.
and income of B =Rs. y p.m.
and saving of each one = Rs. 1500 p.n
. Expenditure of A =Rs. (x — 1500)
and expenditure of B = Rs. (y — 1500)
Now according to the conditions,

i=—7-::>5x=‘/'y L)
) A
x—1500™ '3

and 9560 ~ 2

= 2x-3000=3y-4500

=>2x-3y=-4500+3000

=2x-3y=-1500 ..(7);
, 7

from (:),x=-§-y

Substituting the value of x in (77)

’
2(?)y—3y=-1500

4
= lTy—3y=-15‘.’]0
_14y-15y

= —1500
: 15

-'-'51 = -1500 = y=7500.
Substituting the value of y in (i),
5x=7x7500

7300 _ 10500

= x=7Tx

Hence income of A = Rs. 10500
and income of B = Rs. 7500 Ans.
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 x=21-15=6

)

om 1,1,{!

Subtracting (i) from (/)
y=57
x~57=24
x=24+57=8]
Hence no. of pupils in A room = 81
and no. of pupils in B room = 57 Ans.

A and B each have a certain number of
marbles A says to B. “If you give 30 to
me, | will have twice as many as left with
you.” B replies, “If you give me 10, 1
will have thrice as many as left with you.™
How many marbles does cach have ?
Let no. of marbles A have = x

and no. of marbles B have = y
According to the conditions,

x+30=2(y-30)

(from (7))

Q. 27.

Sol.

= x+30=2y-060

30 x-2y=-060-30

= x=-2y=-90 (1)
and 3(x-10)=(+10)

= 3x=30=y+ 10
Ix-y=10+30=40 (1)
Multiplying (/) by 1 and (i7) by 2
x=-2y=-9
6x-2y=80
_"'___t—.——'—-———
Subtracting we get

~S5x==170 = X**=

Substituting the value of x in (7)
4-2y=-9
= =2y=-90-34=-124

yg:Lz.i-_:(,z

Hnuhhumu'blu=34 :
- and B has marbles = 62 Ans.

- Q.28. The present age of aman is3 years more
than three times the age of his son. Three
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Sol.

Q. 29.

Sol.

years hence, the man’s age will be 10
years more than twice the age of his son.
Determine their present ages.

Let man’s present age = x years
and his son’s age = y years
3 years hence,
age of man = (x + 3) years
and age of his son = (y + 3) years
According to the conditions,
x=3ypy+3 (1)
x+3=2(+3)+10
= x+3=2y+6+10
=>x-2y=16-3=13 .. (i)
Substituting the value of x from (7) in (i7)
3y+3-2y=13=>y=13-3=10
Substituting the value of y in (7)
x=3x10+3=30+3=33
Hence age of man = 33 years
and age of his son = 10 years Ans.

The length of a room exceeds its breadth
by 3 metres. If the length is increased by
3 m and breadth 1s decreased by 2 metres,
the area remains the same. Find the length
and breadth of the room.

Let length of room = x metres
and breadth of room = y metres
. Area = length x breadth = x y m?
In second case,
| length = (x + 3) m
and breadth= (y - 2) m
;. Area=(x+3) (y-2)m?
According to the conditions,
x=y+3 wild)
x+3)(-2)=xy
xy-2x+3y-6=xy
-2x+3y=6
2x-3y=-6 ..(71)
Substituting the value of x from (7) in (i7)

Q. 30.

Sol.

Q. 31.

2(y+3)-3y=-6
= 2y+6-3y=-6
—y==6—-6=-12
y=12
and x=y+3=12+3=15
Hence length of the room =15 m
and breadth of the room = 12 m Ans.
The area of a rectangle gets reduced by

'8 m?, if its length is reduced by 5 m and

breadth increased by 3 m. If we increase
the length by 3 m and breadth by 2 m,
the area is increased by 74 m?. Find the

dength and breadth of the rectangle.

Let length of rectangle =x m

andbreadth =y m

and area = xy m?

In first case,
(x-5)(+3)=xy-8

=>xy+3x-5y+5=xy-8

=>3x-5y=-8+15=7

=>3x-5y=7 L),

and 1n second case,
(x+3) (7 +2) =xy + 74
=>xy+2x+3y+6=xy+74
=2x+3y=74-6=068
Multiplying (7) by 3 and (i7) by 5,

(i)

9x-15y=21
10x+ 15 y= 340
Adding, we get
361
= x='-""'""'=19
19x=361 = 19

Substituting the value of x in (7)
3% 19=8p="T, =050 tS0 =7
v =Sy =T5187 = 8¢

.. Length of rectangle = 19 m
and breadth of rectangle = 10 m Ans.

A motorboat takes 6 hours to cover 100
km downstream and 30 km upstream. If
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Sol.

the motorboat goes 75 km downstream
and returns back to its starting point in 8
hours, find the speed of the motor boat
in still water and the rate of the stream.

Let the speed of motorboat in still water
= x km/h

and speed of stream =y km/h
.. Speed of upstream = (x — y) km/h
and speed of downstream

= (x + y) km/h
Now according to the conditions,
100 30 _ Q. 32.
X+y x-Yy
75 75
- - = 8
and X+y x-Yy
Letx+y=a and x—-y=>.
100 , 30 Sol.
+ =if) -
> b ..(7)
35,75 -
Multiplying (i) by 5 and (i7) by 2
500 , 150 _ 5,
a b
150 o 150 g
a b
Subtracting, 350 _ lf = 14 a= 350
a
a= 330 _ 25
Substituting the value of @ in (7)
- 100 , 30 30
—t—==6 — =6
T e
| 2
= E s = 25b=30
b 1
30
b=—=15
2.

= penk =25 i)
=135 ..(1v)
Adding, we get,
' )
2 x=40, :>1'=4—2l'=2”
and subtracting,
10
2y= = V=3 =

Hence speed of motorboat in still water
= 20 km/h
and speed of stream = 5 km/h Ans.

A man sold a chair and a table for
Rs. 2178, thereby making a profit of 12%
on the chair and 16% on the table. By
selling them for Rs. 2154, he gains 16%
on the chair and 12% on the table. Find
the cost price of each.

Let C.P. of chair =Rs. x

and C.P. of table = Rs. y

In first case, gain on chair = 12%
and gain on table = 16%

x(100+12)
100

_ 112
= ——X
100

‘. S.P. of chair =

and S.P. of table

_y(100+16) 116 "
~ 100 100"
In second case. gain on chair = 16%

and gain on table = 12%

x (100 + 16)
100

100

", S.P. of chair =

and S.P. of table

y(100+12) 112 $
100 100"
According to the conditions,

100 1(10

112 x4+ 116 y= 217800

116
and '—100 X+

...(7)

ry?

112
2154
1007

. Downloaded from https:// www.studiestoday.com



148
__________________———-———f—-_-——-—*—"—-_—"-___'—_
#

= 116x + 112y = 215400 ..(i) 120 , 480 _ ¢
Adding (7) and (i), we get, y X
228x + 228y = 433200 Y 15, 60 _4 (Dividitle by 8)
x+y=1900 .. (i) TN -
and subtracting (7) and (i7), we get, ..(7)
—4 x + 4y = 2400 200_,_400_25
: and x 3
= x—y=-600 ..(iv) Y
N . . wow » 8 16 l
Again adding (iii) and (rg,m g +=2 = > (Dividing by 25)
650 (”)

Q. 33.

Sol.
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2x=1300 = x=T=

and subtracting, Multiplying (7) by 8 and (i7) by 15,

8

2y=2500 = y=g—520—0=l250 lio+4x0=3
Hence C.P. of chair = Rs. 650 and 120 240 _ &
C.P. of table = Rs. 1250 Ans. y x
A man travels 600 km partly by train and - o =
partly by car. Ifhe covers 120 km by train ‘ 240
and the rest by car, it takes him 8 hours. Subtracting, =—— =3 = 3 x=240
But. if he travels 200 km by train and *
the rest by car, he takes 20 minutes - =240 _ ¢
longer. Find the speed of the car and that 3
of the train. Substituting the value of x in (7)
Let the speed of car = x km/h 154 60 _
and speed of train = y km/h y 80

Total journey = 600 km. 15 sqp Bery3 &1
In first case, T y 80 4. 1S i
Distance covered by train = 120 km => y=60
and distance covered by car = 600 — 120 . Speed of car = 80 km/h
= 480 km and speed of train = 60 km/h Ans.

Q. 34. 6 men and 8 boys can finish a piece of

Time taken = 8 hours work in 14 days while 8 men and 12 boys

In second case, can do it in 10 days. Find the time taken
Distance covered by train = 200 km by one man alone and that by one boy
and distance covered by car = 600 — 200 alone to finish the work. ‘ _
= 400 km Sol. Let a man cari do the work in = x days
Total time taken = 8 hours 20 minutes and a boy can do ﬂle_satcywdﬁa;krsm
= 2—0' =8 l = Qhours 1
60 3 3 -, Man’s 1 day’s work = =
Now according to the conditions l
and boy’s 1 day’s work = ';

Downloaded from htip's:ff www.studiestoday.com



w.studiestoday.com

Downloaded from hitps:
l 149

Q. 35.

Sol.

| 4

~ According to the conditions,

— o= — ‘
x y 14 ()
8 .12 _1 ¢
and x y ke 10 ...(H)
Multiplying (7) by 3 and (i7) by 2,
18 24 _3
X ¥ 14
16 24 _ 2
x y 10
Subtracting,
2_3 2 _30-28_2 |
x 14 10 140 140 70
sox =140
Substituting the value of x in (/)
e 3 8ol
140 y 14
8_1__6 _10-6
= 3y 14 140 140
3.4 8 _1
i y 140 :} y 35
y=8 x35=280
Hence a man can do the work in
= 140 days
and a boy can do the same work in
= 280 days Ans.

A lady has 25-P and 50-P coins in her
purse. If in all she has 80 coins totalling
Rs. 25, how many coins of each kind does
she have ?

Let no. of 25 — P coins =x
and no. of 50 - P coins =y
According to the condition,
- x+y=80 (D)
x X 25 p! y x50

_ =25
100 100

+2=25
2

Q. 36.

Sol.

= x+2y=100 .. (i)
Subtracting (7) from (i7)
y=20

Substituting the value of y in (i)
x+20=80 = x=380-20=060

Hence no. of 25 — P coins = 60

and no. of 50-P coins = 20 Ans.

A and B together can do a piece of work

. y 1
in 6 days. If A’s one day’s work be IE

times the one day’s work of B, find in
how many days, each alone can finish the
work.

(A + B)’s one days work = ‘é‘

Let A can do the work in = x days
and B can do the work in = y days

1
A’s 1 days’ work = =
ne )
and B’s 1 day’s work = 7

According to the condmons,

o g3l 3 ,
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S 0

e l .
Substituting the value of o (ii)

2y oy U6 2y 6
() "
= 2y=30 = V=-? 15
Substituting the value of y in (7)
ok 1 1
X 2><15 10
= x=10

Hence A can do the work in = 10 days
and B can do the work in = 15 days Ans.
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